UGC NET 2021 Linguistics

Topic:- 31Lingu_A

1) The study of a language at different points on the time dimension is called.
A1 i e & fafdroot frogail us fopelt srrar & sieeRIol @Y ____ e 3

[Question ID = 3476][Question Description = S2_qSNz_PG_LIG_QO01]
1. Synchronic/z@miferes [Option ID = 13901]
2. Diachronic/@rerapfdas [Option ID = 13902]
3. Contrastive/=aferdt [Option ID = 13903]
4. Descriptive/aufsiicaras [Option ID = 13904]

Correct Answer :-
e Synchronic/zerpifcias [Option ID = 13901]

2) The property that human language can communicate information about something and is able to refer to events remote
in space and time is known as
fore1 Spurerst 3 ArorcdiT simar fRpet ara &t o AYIT B2 ADdar 3 3R AT SFPIferd Tconsil oI foror a2 Fwdar 3, 3A Bad 8 -

[Question ID = 3477][Question Description = S2_qSNz_PG_LIG_Q02]
Arbitrariness/areRemar [Option ID = 13905]

Discreteness/fafdear [Option ID = 13906]

Displacement/f=emust [Option ID = 13907]

Interchangeability/ seafdforriar [Option ID = 13908]

A W N -

Correct Answer :-

® Arbitrariness/mefesmar [Option ID = 13905]

3) Which one of the following sounds are made with a constriction in the vocal tract which is either complete or sufficient
to cause friction?

dol dIay U # APIIel A Icanied fepu Sird 3 Sil A1 dl guf Siar 3 sredr auvl 3cdeol Mol @ o1 wRIfg
[Question ID = 3478][Question Description = S2_qSNz_PG_LIG_QO03]

1. Consonantal/=istecaa [Option ID = 13909]
2. Approximant/aifiemft [Option ID = 13910]
3. Sonorant /3t [Option ID = 13911]

4. Strident/%g1 [Option ID = 13912]

Correct Answer :-
e Consonantal/=isoicaas [Option ID = 13909]

4) Phonemic transcription implies

Fafoifdres ferziaor @1 forfdaref 3 :

[Quest1on ID = 3479][Question Description = S2_qSNz_PG_LIG_Q04]

Broad transcription/fi=qa ferzicet [Option ID = 13913]

Language specific functions to be kept in mind/smmur fafdre Fafsifires yepril @bl eiret 3 32 3 ferwicar [Option ID = 13914]
Transcription based on phonemic properties of speech sounds/ar® - ¥deil @ afoifdred il W smenf¥a ferwicet [Option ID = 13915]
All of these/3uzfes wsft [Option ID = 13916]

AWN—\

Correct Answer :-

e Broad transcription/fizqa fericvet [Option ID = 13913]

5) A wideband spectrogram is ideal for a study of the formants because it is a visual representation of
Th dI5sas JUACISNIH B D 31eRIol D fere sigof alar 3 ar=iife us zfdar gfersuvr &

[Question ID = 3480][Question Description = S2_qSNz_PG_LIG_QO05]
1. both, frequency and intensity/amqfer sz digar Sl @1 [Option ID = 13917]

2. both, time and intensity/ret 3iiz digar cleil @1 [Option ID = 13918]

3. frequency, time and intensity/smqfe1, @iet iz digar @1 [Option ID = 13919]

4. the wave form/ast ¥u o1 [Option ID = 13920]

Correct Answer :-
e both, frequency and intensity/smgfer sl digar cleif @1 [Option ID = 13917]

6) Electropalatography gives clues to the consonants in terms of



eI areicrEol (scIagitcicobl) 3 Ristoll @/ I Add SaAr s ©

[Question ID = 3481][Question Description = S2_qSNz_PG_LIG_Q06]
. place of articulation/3camur zeret [Option ID = 13921]

. manner of articulation/3carur & fafer [Option ID = 13922]

. voice and aspiration features/= iz ssIgmr 3ifdreigmor [Option ID = 13923]
. fricative and affrication features/=rdff sz sigpaur sifdrergior [Option ID = 13924]
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Correct Answer :-
e place of articulation/3carur Feret [Option ID = 13921]

7) Examples like 'smog’, 'motel’ and ‘brunch’ are the cases of the word - formation strategy called

‘Fafer, 'dfeer’ iR '@’ Sid Io1eRvl forwoifeiRaa 3 A [ 9rssiomiivT BRisifer @ et 3 :

[Question ID = 3482][Question Description = S2_qSNz_PG_LIG_QO07]
1. Suppletion/zm@iger [Option ID = 13925]

2. Backformation/3iega sci jeufer [Option ID = 13926]

3. Blending/fiigpr [Option ID = 13927]

4. Clipping/@aet [Option ID = 13928]

Correct Answer :-
e Suppletion/zmaiger [Option ID = 13925]

8) A morpheme which is realized by more than one morph in some phonological environment is called :

@B HUH il g Faforfde uf¥doll 3 v A b FU GRI Icanfed 8 3, =1 ©3 SIId 3 :

[Question ID = 3483][Question Description = S2_qSNz_PG_LIG_Q08]
1. Suppletive/aioncas

[Option ID = 13929]
2. Portmanteau/3iyc

[Option ID = 13930]
3. Allophone/3uzcaot

[Option ID = 13931]
4. Allomorph/3usu

[Option ID = 13932]
Correct Answer :-
e Suppletive/m@iconcans
[Option ID = 13929]

9) The morpheme '- s’ in a sentence 'She eats an apple' ,which is an example of third person, singular and present simple
tense marker in English, is known as

3io)sil 9 'off s¢1 (eats) wor wwuer ara 3 U@ - S Sl US udol, wwaziel 3l A ddddlol DIt Ria DI GBI 3, AT D8l Sl 3 -

[Question ID = 3484][Question Description = S2_qSNz_PG_LIG_Q09]
1. Grammaticalized morpheme/carazvitaya >fter

[Option ID = 13933]
2. Cliticized morpheme/gftp® Sfter

[Option ID = 13934]
3. Portmanteau morpheme/ iy

[Option ID = 13935]
4. Subtractive morpheme/cradeid St

[Option ID = 13936]

Correct Answer :-
e Grammaticalized morpheme/cma2vfiay Sfta

[Option ID = 13933]

10) In English, we use the shortened forms 'they'll’ and 'he's’ for 'they will' & 'he has (is)'. These are examples of

3fo)att 91 &t 'they will' 3iiz 'he has (is)' @ fere wfénT u 'they'll’ sz 'he's’ @1 galet B 3, w16 forwoifeiRaa 3 21 b1 o180 8 ¢
[Question ID = 3485][Question Description = S2_qSNz_PG_LIG_Q10]



enclitic/yafgpft [Option ID = 13937]
proclitic/ugnggft [Option ID = 13938]
syncretic/3m@fSsi [Option ID = 13939]
special clitic/fadm amgRft [Option ID = 13940]
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Correct Answer :-
e enclitic/gafgpft [Option ID = 13937]

11) In the sentence 'l saw the girl who was a teacher’, ‘'who was a teacher' is a/an

araer "31r$ i € orel g arst € kR’ 3 g arst € kR’ 3 ¢

[Question ID = 3486][Question Description = S2_qSNz_PG_LIG_Q11]
1. S/ox
[Option ID = 13941]
2. NP/wer tt
[Option ID = 13942]
3. VP/didt

[Option ID = 13943]
4. Adjectie P/fagmwor bt

[Option ID = 13944]

Correct Answer :-
e S/va
[Option ID = 13941]
12) In the sentence, ' | felt that the fruit was not fresh’, 'that’ is a
AIGRT 3T Wee S g Bodr oifc B of, A3 ¢

[Question ID = 3487][Question Description = S2_qSNz_PG_LIG_Q12]
. Noun/zi= [Option ID = 13945]

. Co-ordinating Conjunction/3mienfeasur Agfcrdlers [Option ID = 13946]

. Complementizer/gguraRt [Option ID = 13947]

. Adverb/fegzn fdgmur [Option ID = 13948]

AN wnN -

Correct Answer :-
e Noun/3ism [Option ID = 13945]

13) From the perspective of grammatical analysis, as part of a two-way classification of syntactic constructions using
distributional criteria, which of the following is exocentric?

AIRIICAD aoll B faehl asffaur & wu 3 crsMIs efteamivr A roiferRad i A Bl siadia 3 ?

[Question ID = 3488][Question Description = S2_qSNz_PG_LIG_Q13]
1. atall boy/ar ¢fet dfer

[Option ID = 13949]
2. on the table/sifet g 2qet

[Option ID = 13950]
3. the cake with cream/c @ fic ajls

[Option ID = 13951]
4. will be going/feet t siigsr

[Option ID = 13952]

Correct Answer :-
e a tall boy/ar et dfer

[Option ID = 13949]

14) Which of the following is not true for covert movement in Government and Binding framework?

St &t (GB) Jiise 3 i 3 sy Hdactel @ fere foafcRad 3 A la w8t o él 8 ?
[Question ID = 3489][Question Description = S2_qSNz_PG_LIG_Q14]



It takes place from S- structure to LF/?s S - izdon 3 LF Jizden &t 3l afea alar & [Option ID = 13953]

It is a semantic movement/s v seffdsiett factet & [Option ID = 13954]

Its output has a phonetic reflex/sb! ufdviie 3 v Fafore yferad &iar & [Option ID = 13955]

Examples include 'wh-', ‘in situ’, expletive replacement, and anaphor raising/s3Ia 3c1avil 3 ‘Secrpud ‘sof 3¢, oy yferenyel iz slearger 3cemdel onfiet &
[Option ID = 13956]

A W N -

Correct Answer :-

e |t takes place from S- structure to LF/=@ S - Jizden 3 LF 3ixdoen & sz afea aiar 8 [Option ID = 13953]

15) The modern study of speech acts begins with Austin's (1962) engaging monograph "How to do things with words", the
published version of his William James Lectures, delivered at Harvard in the year

I, RIMUR B 3MEYford 31eRIel sRAS 3 GU s1u fAferme Sievt cIReImell & siifeot (1962) @ yopifdia wuiar Aad faforder (Heee) a6 ¢ 3
Rica fag agat"” @ wrer fooa ad grew gan

[Question ID = 3490][Question Description = S2_qSNz_PG_LIG_Q15]
1. 1955

[Option ID = 13957]
2. 1957

[Option ID = 13958]
3. 1954

[Option ID = 13959]
4. 1952

[Option ID = 13960]

Correct Answer :-
e 1955
[Option ID = 13957]

16) Implicature is a component of speaker meaning that constitutes an aspect of what is meant in a speaker’s
utterance without being part of

forfaref a1 & Sif$igrRI @1 a6 ace 3 Sit fowafeRaa o1 321 gu e a1 B el o us 3 :

[Question ID = 3491][Question Description = S2_qSNz_PG_LIG_Q16]
1. What is said/s @ar i 2

[Option ID = 13961]

2. What is understood/sit @ Sirr 3
[Option ID = 13962]

3. What is asked for/si sifor Sirer 3

[Option ID = 13963]
4. What is not being asked /s g1 ot S a1 3

[Option ID = 13964]

Correct Answer :-
o What is said/sll wal Sirer 8
[Option ID = 13961]

17) The term Discourse Marker (D.M.) is generally used to refer to a syntactically heterogenous class of expressions which
are distinguished by their

3roRi sz (31 W) ug D1 YRIPT AIIRId: IRl fderracas U A faudish sifircaftpdl @ Scdwa @ fare o sar & Sit foeifarlRaa af 2
P15 GRI Usard! S 3 ©

[Question ID = 3492][Question Description = S2_qSNz_PG_LIG_Q17]

1. Function in discourse/qifep 3 yarf [Option ID = 13965]
2. Meaning in discourse/qifep 3 aref [Option ID = 13966]
3. Category in discourse/qifes 3 9uft [Option ID = 13967]
4. Purpose in discourse/qifep 3 girsior [Option ID = 13968]

Correct Answer :-

e Function in discourse/qifep & yamrf [Option ID = 13965]

18) A term or expression that expresses negative feelings or attitude towards the referent, such as 'rag' for newspaper is
known as



@IS Ug AT ABRARP Sl AT D Yol SIPRICHD $IGoIIU AT AT TP Dl & SR AAFR U D fere 'RrersT (391), a1 sl Siar 8 -

[Question ID = 3493][Question Description = S2_qSNz_PG_LIG_Q18]
Euphemism/foreifes [Option ID = 13969]

Dysphemism/gaiferar (f53wfiser) [Option ID = 13970]

Equipollent antonyms/mrgfera fudiarefas [Option ID = 13971]

Equipollent opposition/2egfera fiRter [Option ID = 13972]

A w N =

Correct Answer :-

e Euphemism/férafep [Option ID = 13969]

19) A change is one which does affect the inventory of phonemes by adding to or deleting from the number
of phonemes of the language or one in which one phoneme changes into another phoneme

uf¥acior 3 siren @ Fafomil @I T A SIS AT T D GRI Fdford Pl genfad il 3, 1dr $ud v afor gl Faferd I af¥afeda ar
STl 8

[Question ID = 3494][Question Description = S2_qSNz_PG_LIG_Q19]
1. allophonie/sraferas [Option ID = 13973]

2. non-phonemie/3Iz - afeifdr [Option ID = 13974]

3. phonemic/zafsifdias [Option ID = 13975]

4. shift/uf¥gfer [Option ID = 13976]

Correct Answer :-
e allophonie/srafers [Option ID = 13973]

20) The English word 'female’, which was earlier 'femelle’, acquired its present form under the influence of ‘'male’ and it is
an example of

o)l @ 9res 'female’, Sit uscl 'femelle’ em, of 'male’ 9rec @ gama 3 sruett aderel Fasu sgul e 3il= a1 DI ISI6T 3 &

[Question ID = 3495][Question Description = S2_qSNz_PG_LIG_Q20]
split/faxiser [Option ID = 13977]

conditioned change/iifére uf¥acder [Option ID = 13978]

unconditioned change/ferzuifeies ufsacer [Option ID = 13979]

. analogical change/3reoadicre uf¥adet [Option ID = 13980]

AN wN -

Correct Answer :-
® split/frdsar [Option ID = 13977]

21) Who proposed the ‘'wave model' which was an indirect challenge to the Neogrammarian view of sound change?

SRI gdifad 'dq diser’ Faol uf¥dade & sIada=i01e efSedlvr ol sigeast golldl off :

[Question ID = 3496][Question Description = S2_qSNz_PG_LIG_Q21]
1. Johannes Schmidt/sieit f9s1c [Option ID = 13981]

2. Karl Brugmann/ret gomiar [Option ID = 13982]

3. Hermann Osthoff/asfar sizciw [Option ID = 13983]

4. Jakob Grimm/Siwa f3pr [Option ID = 13984]

Correct Answer :-
e Johannes Schmidt/Sisit f9sic [Option ID = 13981]

22) The area which preserves linguistic features of an earlier stage of development is called a

g &I SiI faPRI &I gaiazen o iftia I3 cIgivll oI ufegivl wer 8 __ &) DEcIdl 3 ©

[Question ID = 3497][Question Description = S2_qSNz_PG_LIG_Q22]
1. focal area/@dr & [Option ID = 13985]

2. relic area/sm9m &xg [Option ID = 13986]

3. transition area/iggur giq [Option ID = 13987]

4. linguistic area/smmfasiroft 8 [Option ID = 13988]

Correct Answer :-

e focal area/@d &iq [Option ID = 13985]

23) Which of the following is NOT true for language determination?

e forerfzur & fere forwaferRaa 3 A dlol -A1 Beret AT o1l 3 ?
[Question ID = 3498][Question Description = S2_qSNz_PG_LIG_Q23]



1. It was introduced by Sapir/s3 2z grr ot fipen s [Option ID = 13989]

2. It describes that aspect of language planning which is concerned with the allocation of languages or language varieties to specific functions in a
given society /s A €I PI quiel w2l & &b 91IVI AlSToll I Ugl, FSRImT 2wt bl ST 31 1IN Srdcol S[edI NI @ YR A BIdl 3, 3ADI f[afdre orf aiar & [Option ID
=13990]

3. It is concerned with matters such as the choice of an official language, medium of instruction, regulation of language use in courts, etc. /s fafdoor
Tl S b 19, fOTST BT eI, GAIRIICHIL SIS 31 SITeT YRileT &b SifAiforIeT 3fe @ avter A Jaféia & [Option ID = 13991]

4. Heinz Kloss referred to this aspect of language planning as status planning. /assidacifa of 32 Aslell @ U 3 HIWT AsTell D ;A ust B oidf aen [Option ID =
13992]

Correct Answer :-
e |t was introduced by Sapir/s31 2k grr ter fien srn [Option ID = 13989]

24) A language is considered endangered if

fooft s DY 3 JIRT HABCcTUool Aol SIIT 3 SId

[Question ID = 3499][Question Description = S2_qSNz_PG_LIG_Q24]

1. there is no risk that it will no longer be spoken /st @1 Sitfiaer ot 2lar s 32 srfdrer 3t dierr o1dt Smes
[Option ID = 13993]

2. there is no generational decline in the percentage of children who learn to speak it. /smur 2fixdol arel acdl &I e 3 Hidhr grt ol e
[Option ID = 13994]

3. the number of speakers is very small and there is no decline in the proportion of children learning it./dlctol areil <t I d&a Pat & e 3 AMel aret
el DI JRRAT 3 AUIID RI ot 831 &
[Option ID = 13995]

4. there is a renewed interest in ethnic identity among the speakers of the language. /smrr @ dictol drcii 3t Sieter usarer 3 of aifdrsfr woft g8 8

[Option ID = 13996]

Correct Answer :-
e there is no risk that it will no longer be spoken /s @ Siif3as ot alcr fos 3 siferer 3t QYetr ordl SmsT
[Option ID = 13993]

25) Lesley Milroy's work in Belfast (1987) showed that
Jerwre (1987) 3 dell Breriz o1 orf a6 goifar 3 b

[Question ID = 3500][Question Description = S2_qSNz_PG_LIG_Q25]

1. Speakers who were closely integrated into local community networks maintained linguistic forms characteristic of the local dialect more frequently
than other speakers. /d b1 Sl a6t FFIGRI olcad 3 Yd=ULI IS Bl 3, d Felreflr dlcft & snftre =ul & ol Bl G ahIsil B Jefoll 3 YRI: 3ifels BRET R &
[Option ID = 13997]

2. Speakers who were not closely integrated into local community networks maintained linguistic forms characteristic of the local dialect more
frequently than other speakers. /d apr Sit FerrefiI AHSRI olcads 3 Yuiwivl oidt S 81 3, d FerroflI dictt @ sfdas Ful & Uil DI G aep1sil b getol I Yrr: Siferd
DRIEA A 3
[Option ID = 13998]

3. Speakers who were closely integrated into local community networks did not maintain linguistic forms characteristic of the local dialect more
frequently than other speakers./d a1 St el AAGRI olcad 3 YdFUVI S Bl & d FAGIR dlctt @ 911t Ul @ Uil DI G2 DI Feloll 3 YRE: 3IMED PRI oldl RxAL
3
[Option ID = 13999]

4. Speakers who were not closely integrated into local community networks did not maintain linguistic forms characteristic of the local dialect more
frequently than other speakers./d acbr it FereiiI ATGRI olcad 3 guiwiur Feeiier diclt @& anftfas =dl @ SJuil B G 3t YrE: 3iferd PRI ofdl X &

[Option ID = 14000]

Correct Answer :-

e Speakers who were closely integrated into local community networks maintained linguistic forms characteristic of the local dialect more frequently
than other speakers. /d b Sil o6l AAHGRI oledd 3 YdFULI IS Bl 3, d Feloilr dlefl @ Mt Ful D Uil DI g3 ITPI3LL Bl Jefoll 3 YRI: 3MfeD DRI RALT &

[Option ID = 13997]

26) A linguistic feature regarded as distinctive of a particular group is called

AT At 3Y0T PRI fopil fo1f2aa 13p w1 fafdrse i3 reTsioT A6l SIAT 3 3 a1 D8l Sl 3 7
[Question ID = 3501][Question Description = S2_qSNz_PG_LIG_Q26]

1. Shibboleth/fomterer [Option ID = 14001]

2. Social network/3heret alcaas [Option ID = 14002]
3. Ego-network/3sl - slcaa [Option ID = 14003]
4. Tenor/sitz [Option ID = 14004]

Correct Answer :-



e Shibboleth/fdmieier [Option ID = 14001]

27) Kashmiri is unique in subcontinental NIA in possessing an almost complete set of

SuIBIGIdRT NIA 3 ©9dftst &I srerea faduar @ 15 $31 DI ceneT YUl AR 3T 8 -
[Question ID = 3502][Question Description = S2_qSNz_PG_LIG_Q27]

Palatalized consonants/drcieRfra =isteit @1 [Option ID = 14005]
Aspirated consonants/a@Igur ®isfeli @t [Option ID = 14006]
Retroflex consonants/yferftea istoil @1 [Option ID = 14007]
Glottalized consonants/«arifeid isteil @1 [Option ID = 14008]

A WN -

Correct Answer :-
e Palatalized consonants/drcieRf3ra «isteit @1 [Option ID = 14005]

28) Indo Aryan languages are

39X - 3rRfor somail 3
[Question ID = 3503][Question Description = S2_qSNz_PG_LIG_Q28]

1. rich in native fricatives/geoffer aftfeil &bt ygzar 2t & [Option ID = 14009]

2. rich in glottalized consonants/*aRRfSIA =isell &I ygRar aidt & [Option ID = 14010]
3. poor in native fricatives/gofer aftfeil &t weft 2t & [Option ID = 14011]

4. poor in aspirated consonants/#@mr - <isteil &bt @t 2t 2 [Option ID = 14012]

Correct Answer :-
e rich in native fricatives/dofler aftiil &t ygear adt & [Option ID = 14009]

29) In language typology, the classification of languages into types is based on

SIS Yrasufdsirolr 3 s1marsil oT yeul d asifasur foresifeilRaa 3 A fopar uz smenfya axar 3 ?
[Question ID = 3504][Question Description = S2_qSNz_PG_LIG_Q29]

written records of languages/smuisii @ feifaa ats [Option ID = 14013]

general structural features of languages/ simursii @ MmieeI Jdoicad sifdrcrgior [Option ID = 14014]
areal proximity of languages/smrunsil &t gxfler forasear [Option ID = 14015]

phonetic similarities of languages alone/dact smursit &t Zafer e [Option ID = 14016]

A w N =

Correct Answer :-
e written records of languages/smunsil @ feiRaa f¥ais [Option ID = 14013]

30) A line drawn on a map to mark the boundary of an area in which a particular linguistic feature is used is known as

o1 81 31 fop=fi faroy snftrep sifdreTsoT o1 YT Bl 3, HATGIfRIg UR 3l et gorfol @ fere =M<l o1 Y3ar ot ®aa 8 :

[Question ID = 3505][Question Description = S2_qSNz_PG_LIG_Q30]
an isomorph/3weisu famzr [Option ID = 14017]

an isophone/@rdet 2ftemdzar [Option ID = 14018]

an isosyntagm/3merarar ftemar [Option ID = 14019]

an isogloss/memmuier femr [Option ID = 14020]

AN wN -

Correct Answer :-

® an isomorph/wesu flamzr [Option ID = 14017]

31) Motor speech disorder that compromises the sequential, articulatory movements that are required to produce speech
and are believed to result from a breakdown in motor speech programming is called :

9nSif¥es aPT Gy R arp ITarRvl & 1Y Af3Id G#HeId, ITARVPIA Adciol d Werell il 3, sit #Hic: Fdia Qepfier d ssadt d BRI AXar 3,
TRIT Pal SIIeI 3 -

[Question ID = 3506][Question Description = S2_qSNz_PG_LIG_Q31]
Expressive aphasia/sifdrcifer smurara [Option ID = 14021]

Dysarthria/fnffam [Option ID = 14022]

Apraxia of speech/dra, dwser - sigirar [Option ID = 14023]

Asperger's syndrome/wustz Rigier [Option ID = 14024]

A WN -

Correct Answer :-
® Expressive aphasia/siféicafe simurara [Option ID = 14021]

32) The concepts of BICS and CALP were proposed by



BICS 3itz CALP ot Jiascuoiiaii ot of yarfad fam

[Question ID = 3507][Question Description = S2_qSNz_PG_LIG_Q32]
1. Jim Cummins/fwet @it [Option ID = 14025]

2. Noam Chomsky/shar dfsz<bt [Option ID = 14026]

3. B.F. Skinner/df. vw. Rwerz [Option ID = 14027]

4. Dell Hymes/xet s [Option ID = 14028]

Correct Answer :-
e Jim Cummins/fwr ofdzr [Option ID = 14025]

33) Patient-centred approaches to language assessment aim to

TSI Jcuicbol D Yfer Ash B efSeapivil ot 39 3 ¢

[Question ID = 3508][Question Description = S2_qSNz_PG_LIG_Q33]

1. describe the patient's language deficit & ability to communicate in an everyday situation/3oifeor uf3ferfer 3t Jsft &bt smur b weft 3fiz JFYur B ARIAT BT
quior @w2er [Option ID = 14029]

2. determine to what extent the patient's language conforms to normalcy conditions/s forerif¥a @w2on b b2t a5 am Jeft 6l srn APHeA: uRReferRll & siodmet
2 [Option ID = 14030]

3. determine to what extent the patient's performance is influenced by age, sex, culture and other such factors. /@ forerifsa @on & Jsft o1 BRI forsurger
b1 86 AD 31y, oI, ADiel 3liR 361 B3 PR®I gRI Youfdd alr & [Option ID = 14031]

4. All of the above/3wf amsft [Option ID = 14032]

Correct Answer :-

e describe the patient's language deficit & ability to communicate in an everyday situation/Jeifeor ufsferfer 3 st bt simar Ht weft iz Ut 6t Meerar o1
qufel 3o [Option ID = 14029]

34) A dictionary whose macrostructure is characterized by the letter arrangement lemmata within the word list is

QAT 9o BRI gad et &I frdrudr oreegedl @ sfiar clatrer &l 3IgR wrazen 3 :

[Question ID = 3509][Question Description = S2_qSNz_PG_LIG_Q34]
. Analogical dictionary/3re9? #cia 9sGa [Option ID = 14033]

. Etymological dictionary/sgcuferieie otecain [Option ID = 14034]

. Alphabetical dictionary/auiggmeRir 9gam [Option ID = 14035]

. ldeographic dictionary/ smacixfr gregara [Option ID = 14036]

A WN -

Correct Answer :-
® Analogical dictionary/Jres et grecmi [Option ID = 14033]

35) A search procedure through which required lexicographic data can be found in a dictionary is known as
3oAYUT YT ORI ATe131 A UTSIA 9reGdIURI SIel 96GDIY d UTS ST 3D 8 :
[Question ID = 3510][Question Description = S2_qSNz_PG_LIG_Q35]

1. Dictionary Algorithm/ eregeIa wetefafer (sreeif¥sr) [Option ID = 14037]
2. Designatum/siférdrer [Option ID = 14038]
3. Denotation/aremef [Option ID = 14039]
4. Definiedum/ufssmer [Option ID = 14040]

Correct Answer :-
e Dictionary Algorithm/srecoiu @efeifafer (srewiif¥st) [Option ID = 14037]

36) Choose the most appropriate answer on the basis of the statements given below
A. Valmiki's Ramayana was composed in pre-historic times.

B. A grammar written on this text is called a traditional grammar.

C. A grammar written on this text is called a synchronic grammar.

D. A grammar written on this text is called a diachronic grammar.

Choose the most appropriate answer from the options given below:

forgotfcii¥aa werell @ MMER UR Al IUITP IR DI RIel D3I ©
A. arc3iifs @ "R & T gPifaeIRin o d g8 ot

B. 331 ure uR feil¥ad RAeuT Bl IRURPIA RATHIVT BEd

C. 3 urs Uz fe1Rad ATBUT Bl AADIID RATBIT BEd

D. 53 urs ur fe1lRad BT DI BIADBHRIDG RITDBIVT B
ofial e s1u feraseul 3 A A8 IR @I <RI HifsTU :



[Question ID = 3511][Question Description = S2_qSNz_PG_LIG_Q36]

1. Aand B only/daet A sz B [Option ID = 14041]
2. Aand C only/dacr A siiz C [Option ID = 14042]
3. Aand D only/@aet A siiz D [Option ID = 14043]
4. A, B and D only/dact A, B siiz D [Option ID = 14044]

Correct Answer :-
e A and B only/@act A 3iiz B [Option ID = 14041]

37) Which of the following statements are true?

A. A natural class is a group of sounds described by a small number of distinctive features

B. A natural class is a group of sounds described by a large number of distinctive features.

C. Any individual member of a distinctive class would require fewer features in its description than the class itself.
D. Any individual member of a distinctive class would require more features in its description than the class itself.

Choose the correct answer from the options given below

forgatferRaa 3 3 Blat A weaT 78 T ?

A. g ymd aof Fdoll DI U AH Bl & Sl T SIEt Ao d fafdree spuil A ufsnitia gar 3

B. ww yapd oot Fdoll @I g APg BNl 3 Sil T al iz A fafdrse spoil 3 ufysnfda diar 3

C. v xade ool @ el e a9y @ fawvil & fere sad el &I qeron A @a sifdrcigior sMAfde sivl
D. v wnade aof @ fipit e fadg & faasull @ fere s3rd ast &t geron A sifdrergior st aist
ofid o s1u faseal & A A8 IR BT <RIl BT :

[Question ID = 3512][Question Description = S2_qSNz_PG_LIG_Q37]

A and C only [Option ID = 14045]
B and C only [Option ID = 14046]
A and D only [Option ID = 14047]
B and D only [Option ID = 14048]

A W N -

Correct Answer :-
e Aand Conly [Option ID = 14045]

38) The basic difference between a zero morph and an empty morph is that:
A. Both zero and empty morphs have forms and meaning

B. Empty morph has form but no meaning

C. Zero morph has no form but has meaning

D. Both empty and zero morphs have no form and no meaning

Choose the most appropriate answer from the options given below:

903 U 3ii? f¥ep u & dta et iR w6 3 5 ¢

A. 9fs1 3ii? foep U Sloll D DR 3ii2 aref B &

B. f¥5 U @ 3%u 3 3, cifdbor s3wDT 31ef o1&l Blear 3

C. 9I% U @I DR ofdl BIdI 3; cifcbol 31ef Bler 3

D. f¥ep 3ii? 961 WU Cloll @ ol PR 3 3 3iI2 of aref

il feu a1u fareedl 3 A A8 IR @1 TRIel B :

[Question ID = 3513][Question Description = S2_qSNz_PG_LIG_Q38]

1. Aand C only/dact A 3iiz C [Option ID = 14049]
2. Aand B only/a@aet A sik B [Option ID = 14050]
3. Band C only/dact B siiz C [Option ID = 14051]
4. B, Cand D only/dsaet B, C siiz D [Option ID = 14052]

Correct Answer :-
e Aand C only/aact A aiiz C [Option ID = 14049]

39) Which of the following are true about the word-formation processes?
A. Abbreviated words such as www, URL and http are called abbreviations as they cannot be pronounced as words

B. Abbreviated words such as UNESCO, NATO, AIIMS and ISRO are called acronyms as they can be pronounced as words.



C. Shortened words such as 'ad.’ for advertisement and 'Prof.’ for Professor are also called acronyms as they can also be
pronounced as words

D. Shortened words such as 'brunch’ for breakfast and lunch and 'motel’ for motor and hotel are called 'Blend words'

Choose the most appropriate answer from the options given below:

foraotferRBaa & A orscforafor gfepzmsit & Fider  aar a8 3 ?
A. www, URL 3iiz http Si3) 3ifarg oreg, 9Ieg ASIU @3 SIIA 3 TR IoIdbI ITURYI 91sg Bl a2 o1&l 3l AT 3
B. Jolrpl, lICY, TR 3R 3R S 2AfenT orec uf¥quff 2 sl & aRilfes o1t ITarvl 9rect &bt e Bar &

C. Advertisement @ fere 'ad’ siiz Professor @ fere 'Prof’ SiRl crgaya oresl @l st uf¥auif war siar 3 ariifes ot 91t Icarvr 95 dl e
fpan st Trpen 3

D. 'Breakfast’ siiz 'Lunch’ @ fere ergapa 91ec 'brunch’ siiz motor 3iiz hotel @ fere Motel @bt firg] (scige1) P &
o f&u a1u farapeul 3 A I AR BT TR DI
[Question ID = 3514][Question Description = S2_qSNz_PG_LIG_Q39]

. Aand C only/@aet A aiiz C [Option ID = 14053]

. B, Cand D only/daea B, C siiz D [Option ID = 14054]
. A, B, Cand D only/A, B, C siiz D [Option ID = 14055]
. A, B and D only/asaet A, B sfiz D [Option ID = 14056]

A W N -

Correct Answer :-
e Aand C only/d>aet A siiz C [Option ID = 14053]

40) Which of the following are true about compound words in English?
A. Compounds such as 'blue tooth' and 'deadline’ are called exocentric compounds as none of them has a head-word.
B. Compounds such as 'boy-friend’ and 'North-East' are called copulative compounds as both words act as head- words.

C. Words such as 'bedroom’, ‘classroom’ and ‘bathroom’ are called left-headed endocentric compounds as the left-hand word
acts as the head-word.

D. Words such as 'notary-public’ and 'attorney-general’ are called right- headed endocentric compounds as the right-hand
word acts as the head- word.

E. Words such as cranberry, blueberry and strawberry are called neo-classical compounds as it is hard to decide the head-
word in these examples.

Choose the correct answer from the options given below:

3io)eht & AT 9rc B AR d FowaifeiRaa & A ®iotl A e 7 3 ?

A. 'sgrcer 3iiz ‘3scirsol’ SIA AYTD 916G od: Diogadd A 916G B3 Sl 3 TID Foldl A DIS 33 - as oidl 3

B. 'sdfer ©' 3 3ii ‘omref - $3¢’ SIY FRA 9166 B3 SINd 3 HRIIfD Sloll 916G 33 - a3 D WU I BRI B &

C. A5, TARRA 31T T1LRSI SI3 916G YT 335 3icl: DIGH IART B S 3 TAIRP AT 33 916G 335 TS D WU 3 PRI Bl &

D. GiicHl ufectas @2 3icioll Sloleet SIY 9166 ST 333 Hod: Dlogad WA 916G D& SIId & TRAID AUST 33 916G 33 a3 Dl A6 PRI dA 3
E. doradl, scqadl siiz Fgradl SiA oreg sradenfHdhl AAFA U @ S & ariifed gl 3c1svil 3 3s as @I forvla el @fdet 8

il fou o1 freseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 3515][Question Description = S2_qSNz_PG_LIG_Q40]

. B, Cand E only/@aa B, C siiz E [Option ID = 14057]
. B, D and E only/daec B, D siiz E [Option ID = 14058]
. A, Band E only/@aet A, B iz E [Option ID = 14059]
. A, Cand B only/asaet A, B siiz C [Option ID = 14060]

A W N -

Correct Answer :-
e B, C and E only/@ac B, C siiz E [Option ID = 14057]

41) Regarding Control theory, which of the following are true
A. Control determines the potential for reference of the abstract pronominal elements PRO and pro

B. a PRO which is the subject of an embedded infinitive clause is said to be under the control of the main clause subject
after a verb like 'persuade’

C. a PRO which is the subject of an embedded infinitive clause is said to be under the control of the object of the verb, in
cases of a verb like '‘promise’.

D. Certain uses of PRO are uncontrolled



E. In uncontrolled situations, PRO has arbitrary reference and does not take reference from an antecedent NP

Choose the correct answer from the options given below:

o Rigia @ Jder 3 fopofeRaa d 3 BlorR) werer w8l 3 ?

A. @3 3xed Ardonfires awal PRO 3iiz pro @ idsaref & fore grrdr sraenom o2 3 :

B. @1 PRO si fapzit srrenfRre qeref Sudararr o1 wdf 3 3A 'ty Sl v fpen & a1c g1 Sudiaa ol & forigunelier war sirar 3
C. @1¢ PRO sit fopft sirenfRra gorel suarar @1 wat 3, 3 'GileT Sizil ve fpan & arg figzn @ odf @ foriqunedier war sirar 3

D. PRO @ oferu=r QRIS 316IBEIcS Bid &

E. serpgies ufdfFaferil 3f PRO o areiRos ddare! aiar 3 iz as gdudka NP 3 Jics sjgvr orél @wwar 3

il feu sru farsedl 3 2 A8 IR D1 WRIet B :

[Question ID = 3516][Question Description = S2_qSNz_PG_LIG_Q41]

. A, B and C only/daer A, B 3iiz C [Option ID = 14061]
. A, D and E only/asaet A, D siiz E [Option ID = 14062]
. C,Dand E only/adae C, D siiz E [Option ID = 14063]
. D and E only/@aet D iz E [Option ID = 14064]

A w N =

Correct Answer :-
e A, Band Conly/dac A, B iz C [Option ID = 14061]

42) Which of the following are true in the sentence 'The boy will buy a car after the holidays'?
A. 'after the holidays' is a complement.

B. 'A car' is a complement.

C. 'buy’ governs 'a car'.

D. 'Infl ' governs ' the boy .

E. 'a car’' m-commands ‘the boy'.

Choose the correct answer from the options given below:

'S df foret a15 31 PR 3R § BIchSsr’ ara & AR A forForferRad 3 2 ®lor A8 & ?
A. '3ae g BIellSST v g 3

B. '3t PR’ v grp 3

C. 'aE', '3 R’ @I forifefa oar 3

D. 'Infl’, 'c edier @t BRI wzar 3

E. '3t PR, ' sdfiRl' DI M - BAIS DI

oifd fu a1 frpeul 3 A Al IR DI RIS DIfST :

[Question ID = 3517][Question Description = S2_qSNz_PG_LIG_Q42]

B, C and D only/aact B, C siiz D [Option ID = 14065]
A, D and E only/@aet A, D sl E [Option ID = 14066]
A, B, C and D only/asaet A, B, C siiz D [Option ID = 14067]
A, B and D only/dact A, B sfiz D [Option ID = 14068]

AW N =

Correct Answer :-
e B, C and D only/aae B, C siiz D [Option ID = 14065]

43) Within the Minimalist Program which of the following are true?

A. The computational system is a mechanism that arranges lexical items in such a manner so as to form a syntactic object.
B. These lexical items must converge or be interpreted at PF and LF.

C. To build a syntactic structure, the computational system accesses lexical items in the numeration.

D. Then it obligatorily selects two or three lexical items at a time and applies operation ‘merge’ to them.

E. During the derivations constituents must be checked for convergence or well-formedness.

Choose the correct answer from the options given below:

srcuaerdr oriad (RBiforifere oriapr) @ sice forsfiRaa 3 A ol A D Jél 37
A. 3if¥rctolica® - guIlcil U UAT 6 3 Sl PI9PIA Hal DI 57 YPR RIARFeId odl & b v ararIcd® wd bl ol 2l 3



B. so1 wlema <l @1 forfdaa »u A PF siiz LF uz fordae & sifdrzur dten aifde

C. arRIeHD el ol & fore sificlolicatd YuITel IRIcA® U A BIIRPIA Al A Ugadr 3
D. a1 a5 A6 siforart U 3 v AT 3l Al dilol DIYPIA S| DI TRIel D2 IolbI fAcRI Dl

E. orsc - Arerol & ol MRV srerdr FRilslel @ 10 3magad U A Sid & Siefl mfde

ofid o s1u faseal & A A8 IR BT <RIl BT :

[Question ID = 3518][Question Description = S2_qSNz_PG_LIG_Q43]

A and B only/d>qet A siiz B [Option ID = 14069]

A, B and C only/d@aet A, B siiz C [Option ID = 14070]

A, B, C and D only/adaet A, B, C siiz D [Option ID = 14071]
A, B, C and E only/@aer A, B, C siz E [Option ID = 14072]

A W N -

Correct Answer :-
e A and B only/daaet A siiz B [Option ID = 14069]

44) Which is TRUE for sign?

A. Signs can generally be classified as iconic or arbitrary.

B. Iconic signs are those, whose forms mirror their meanings in some respect.

C. No natural analogical correspondences between their forms and their meanings are called arbitrary.
D. The concept of sign does not appear in linguistics.

Choose the most appropriate answer from the options given below:

R (Ars61) D forg a=m 381 3 ?

A. RIEI (ATS0T) B AMHAIRICRI GRIDBAD adb Al ARSD Ried & WU i aoffepd e st awar 3
B. sRidas Rie A 3 Retd vu @ g 3 sruer sreif o gferfafdaa o &

C. 9rccl 31z Sordd 31eif B dia BIE FaRfIs WU of 3l D BRI ARS® i ©& S 3

D. frg (Arsor) &t sraemom smufdsiior 3 oidf 3

i) feu s1u fresedl 3 A A8 IR D1 WRIet B :

[Question ID = 3519][Question Description = S2_qSNz_PG_LIG_Q44]

A and D only/dact A siiz D [Option ID = 14073]

B and D only/dsaet B siiz D [Option ID = 14074]

A, B and C only/d@aa A, B siiz C [Option ID = 14075]
A, B, Cand D only/A, B, C siz D [Option ID = 14076]

A w N =

Correct Answer :-
e Aand D only/aqet A siiz D [Option ID = 14073]

45) Which is TRUE for polarity?

A. The determination of logical polarity depends on the fact that one negative cancels another.

B. In privative polarity one term is associated with the presence of something salient, and the other with its absence.
C. One term is evaluatively positive, or commendatory and the other is negative.

D. There is no relation between polarity and partiality.

Choose the most appropriate answer from the options given below:

gelierar @ ferg o= 38t 3 :

A. aifbe gdiziar 331 aea W ok war 3 o5 v IPRIHD g @I fored @2 S d

B. spmrarae gdiaar (Yrsafea ulendl) 3 ves ug g sAscayyt ores &t faempieran ik gRI uc 39S 34 I Adfea 3
C. U UG FAIPICHD 3BU A ADPRICAD 3, Al YIRAICHAD & 3R G SIPRICHD 3

D. gz 3iir ugrarayyiar & dia 1$ Ader ol &

il fou s1u frpeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 3520][Question Description = S2_qSNz_PG_LIG_Q45]

A and D only/dbaet A siiz D [Option ID = 14077]

B and D only/d3aet B siiz D [Option ID = 14078]

A, B and C only/@aet A, B aiiz C [Option ID = 14079]
A, B, C and D only/A, B, C siiz D [Option ID = 14080]

A W N -



Correct Answer :-
e Aand D only/d>aet A siiz D [Option ID = 14077]

46) Which is TRUE for meaning?

A. In PLEONASM, the examples give a feeling of redundancy.
B. In DISSONANCE, there is a sense of its matched meaning.
C. A sense of punning is an unmistakable system of ZEUGMA.
D. Many polysemous senses are not related metaphorically.

Choose the most appropriate answer from the options given below:

forgorferRaa 3f 3 = sref & feru a8 & ¢

A. orecii?ra=r 3 3c18uT JIfSiaRT DI HId S &

B. Rriaifar 3 aifera sref @1 9ma 3

C. °3Y oI a1d SJgal bl JFruee ughi 3

D. 316I® a5 - 3refd oI qetellcard U A Adfrda ordl 3

ofi o s1u fasedl & A A8 IR BT wRI6l BT :

[Question ID = 3521][Question Description = S2_qSNz_PG_LIG_Q46]

1. Aand D only/a@aet A siiz D [Option ID = 14081]

2. B and D only/dsaer B siiz D [Option ID = 14082]

3. A, Band Conly/dde A, B siiz C [Option ID = 14083]
4. A, B, Cand D only/A, B, C 3iiz D [Option ID = 14084]

Correct Answer :-
e A and D only/aac A siiz D [Option ID = 14081]

47) Regarding 'relative chronology' which of the following is/are correct?

A. 'Predictability’ is the most useful factor in determining relative chronology.

B. 'Derivation’ is the most reliable factor in determining relative chronology.

C. 'Internal reconstruction’ is the most important factor in determining relative chronology.
D. 'Phonological changes' are the most useful features in determining relative chronology.

Choose the most appropriate answer from the options given below:

"ATOf315 DIciopavT’ & JHder 3 foorfeiRaa & A ®ior A8 3/ 3?7

A. ATf3ID BICIGIGAVT & aeRul i 'gaio@riar Aaiféres SuRish

B. Amifdre ®Icioapdv @ @Rl 3 '<geufed’ Aaiffre Reaseitn

C. ANMED BATIIAVT T ALIRYT 3 '3RATeR Yol¥doll Adiferd Astayul dR® 3
D. A3 DIciolaAvT @ aeRYI 3 "Fafefdn ufeade’ Aaiférn weragul or® 3
oifa fou s1u eyl 9 A Al IR BT TRI6l HIfSIE ¢

[Question ID = 3522][Question Description = S2_qSNz_PG_LIG_Q47]
1. Aonly/dae A

[Option ID = 14085]
2. Aand B only/dact A 3iic B

[Option ID = 14086]
3. A, Band C only/daa A, B aie C

[Option ID = 14087]
4. A, B, CandD/A, B, C 3z D

[Option ID = 14088]
Correct Answer :-
® Aonly/dact A
[Option ID = 14085]



48) The Latin word ‘octo’ meaning ‘right' becomes ‘otto’ in Italian. What kind of sound change is it?
A. Coalescence

B. Assimilation

C. Coalescence and Epenthesis

D. Lexical diffusion

Choose the most appropriate answer from the options given below:

cifest 9reg 'Octo’, I sref 'eight’ 3, seferaa 3 'otto’ ga1 Siran 3, 8 b YR &1 Fae uf¥ade 3 ?
A. 3ifer

B. mihaot

C. =if?r siiz siftuferafer

D. ®lopIa U

ofi o s1u fwsedl & A A8} IR BT wRI6l BT :

[Question ID = 3523][Question Description = S2_qSNz_PG_LIG_Q48]

1. Aonly/aae A [Option ID = 14089]
2. Bonly/daact B [Option ID = 14090]
3. Conly/aqet C [Option ID = 14091]
4. D only/a5ae D [Option ID = 14092]

Correct Answer :-
e Aonly/dact A [Option ID = 14089]

49) If in a language, the word for 'wrist' is one that is literally translated as 'hand-neck’, which category or categories should
it belong to?

A. Assimilated loan
B. Tadbhava

C. Loan translation
D. Loan blend

Choose the most appropriate answer from the options given below:

Afe fp=il sirar 3 'wrist’ orss @ fetu Sl 9re¢ 3 A1 9nfes 3iggars 'hand neck' @ wu 3 fop=nn St 8 Al A6 fop=a / fdvat it / YforIl
Jdfer sem ?

A. iy 3P|

B. aga

C. 3P 3iediG

D. siera f3rg oreg

il fou s1u Rreseul 3 2 I IR BT a6l HIfSIE ©

[Question ID = 3524][Question Description = S2_qSNz_PG_LIG_Q49]

. Aonly/aact A [Option ID = 14093]

. A and B only/dact A siiz B [Option ID = 14094]
. Conly/a@ae C [Option ID = 14095]

. Cand D only/aaet C siiz D [Option ID = 14096]

A W N -

Correct Answer :-
e Aonly/aact A [Option ID = 14093]

50) Which of the following are true in the case of Restricted Code and Elaborated Code?

A. It is based on the premise that different classes within a society are marked by different types of social relations, and
corresponding to the class divisions of society is the linguistic dichotomy of an elaborated (middle class) code and a
restricted (lower class) code.

B. Elaborated code was said to be used in relatively formal, educated situations; not to be reliant for its meaningfulness on
extra linguistic content, and to permit speakers to be individually creative in their expression, and to use a range of
linguistic alternatives.

C. Elaborated code was said to be characterized linguistically by being highly predictable with a relatively high proportion of
such features as pronouns, tag questions, and use of gestures and intonation to convey meaning.

D. Restricted code was thought to be used in relatively informal situations, stressing the speaker's membership of a group,



was very reliant on the context for their meaningfulness and lacked stylistic range.

E. Restricted code was said to be characterized linguistically by a relatively high proportion of such features as subordinate
clauses, adjectives, the pronoun 'I' and passives.

Choose the most appropriate answer from the options given below:

ufyfifdra sl snue FAfdar @ sder 3 forgor A A Dot A8 3 ?

A. 3@ 3 @RI UR nenfed 3 fp st & ik @ fafdeat aell @ fireat frool YR & ARNRIEG Jdde 31 3 3k =mue ifdar (aeael) iz
af¥iifda Jifdar (forget ael) o1 st fuIsTor J1ATST @ Toifr fewisTor @ 31eeu aldr 8

B. wues ifdar o1 wmagiarn siivanf¥e, forfdra afRerferil # yriler fpan Sirel aren @al Siar o1; U8 $AD] Arefddr A1 uRefte Jea
grRifr® oidl ar; 336 awbl 3iuohl fiIftb 3 RIftbold U A FollcdHD 3l Abd I 3R ol Mt fAdbeul b1 GRIeT B2 ADd A

C. o Jfdar ol HIftes WU A 31id 3ofold Pal SIAT ST T SR1d sref AYyuT o fre Frdeian gost &¢I, 3PIagiu o YRIPT 3R Ibdrel SIt
sifdrergonl @1 ATUSIA: I GUId Bl &

D. uf=iifdra 2ifdar oI sufte U A ATdgE: i Iuara=il, fadruvil, Jdeiet '3’ iR Pat Sid AfICISIvIl & Ica roUId arell sl Sl AT
offd fu s1u farapeul 3 A Tl IR BT TR DIfSTu
[Question ID = 3525][Question Description = S2_qSNz_PG_LIG_Q50]

A and E only/@act A 3iiz E [Option ID = 14097]
A, B and D only/dact A, B sfiz D [Option ID = 14098]
B, D and E only/d>aet B, D siiz E [Option ID = 14099]
C and E only/aaer C 3iiz E [Option ID = 14100]

A W N -

Correct Answer :-
e Aand E only/aaer A siiz E [Option ID = 14097]

51) Which of the following are aspects of Corpus planning?
A. Development of a writing system

B. Promotion of an official language

C. Relativization of heritage language

D. Creation of new words

E. Promotion as a national language

Choose the most appropriate answer from the options given below:

forgaiferRaa 3 3 Plal A PIRIPD foriisiol d uset 3 ?

A. e yotiedt @1 faert

B. Ismimer @ U 3 faorr

C. &RIB HIYI BT Yol:F2ATei RIDUT

D. o1 oreci @I Fstol

E. rsc smmen @ u 3 fasrRt

ofi o s1u fwedl & A A8} IR @I wRIeT BT :

[Question ID = 3526][Question Description = S2_qSNz_PG_LIG_Q51]

A, B, Cand D only/asact A, B, C siiz D [Option ID = 14101]
B, C and D only/dact B, C siiz D [Option ID = 14102]

B and D only/d5aet B siiz D [Option ID = 14103]

A and D only/dbaet A siiz D [Option ID = 14104]

A W N -

Correct Answer :-
e A, B, CandDonly/adact A, B, C siiz D [Option ID = 14101]

52) Which of the following are true for ELAN?

A. This software allows the researcher to time-align transcription and recording.

B. It is well suited to sociolinguistic work.

C. The researcher can make numerous dependent and independent annotations on any word or utterances.

D. Different speakers can only be transcribed on the same tier, and apart from one tier no new coding tiers can be added.
E. ELAN does not allow work from video.

Choose the correct answer from the options given below:



'ELAN’ @ fere forgot 3 21 Plot -1 3181 8 ?

A. w5 3w sropienormal o I Arel Riider Jiie Rwif¥er &Y sg@ifr a1 3

B. sz st siren dsiifores oRIf & fore Suyges &

C. oirerpdai fop=il oreg, aray 3nfe @ &R 3 3R Fador) 3R 3RAd ARSI BT 3

D. o & Faz uz fafdreer awpr1il B & Dac Rizide 5 ST ADGAT &, Th IA2 DI BISHI DIS del DHST FaAz oIl SIIST ST ADAT &
E. ELAN dif3 g1 orl &t sioafer o8t Sar

il fou s1u fyeseul 3 A & IR BT a6l HIfSIE ©

[Question ID = 3527][Question Description = S2_qSNz_PG_LIG_Q52]

A, B and C only/a@act A, B aliz C [Option ID = 14105]
B, C and E only/dact B, C 3iiz E [Option ID = 14106]
A, D and E only/@aet A, D iz E [Option ID = 14107]
C, D and E only/aaer C, D siiz E [Option ID = 14108]

A WN -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 14105]

53) Which of the following is TRUE?

A. In Punjabi, the transformation of aspiration into tone devoices as well as deaspirates preceding stops.
B. In Punjabi, the transformation of aspiration into tone devoices as well as deaspirates following stops.
C. Loss of aspiration in the Dardic group of languages results in aspirated voiced stops.

D. Loss of aspiration in the Dardic group of languages results in aspirated voiceless stops.

E. Loss of aspiration in the Dardic group of languages results in aspirated voiced nasals.

Choose the correct answer from the options given below:

forgatferRaa 3 3 blat a1 Dot 3WE & ?

A. usiiEl # FBEIYUIca @ drel 3 Faidafdd siel A gdadl Fu9lfl I srdiaur 3R Io1d> ABIYIUIcd BT clld lel &
B. dsiel 3 J@IguIca @ drel 3 Buiafdd 3ot A siglacdl Fugll ol srEdia2uT 3k JoId> ABIYUIcd BI iy Blel &
C. cifde re 6 w3l 3 IBYIca & ol Blol A FASYUT Y Fu9f Ictodt 3d 3

D. s A3ge bt sirunsii A FAIYIUIcd & el 3ol A ABIYIUT ETY Fuof Ieusol Bl &

E. cifde 1z &1 srensii 3 Aeyved @ oia lol A ASTYIUT JETY 3MGJeliRIa Ietool Bl &

ofi o s1u fwseal & A A8 IR BT wRI6T BT :

[Question ID = 3528][Question Description = S2_qSNz_PG_LIG_Q53]

A only/@aet A [Option ID = 14109]

A and B only/dact A siiz B [Option ID = 14110]

A, C and E only/@aet A, C 3l E [Option ID = 14111]

A, B, C and D only/d@aet A, B, C siiz D [Option ID = 14112]

A W N -

Correct Answer :-
e Aonly/dact A [Option ID = 14109]

54) Which of the following is/are true about causativization?

A. The process of causativization increases the valence of the verb.

B. Causativization takes place either periphrastically or morphologically, or in both ways.

C. Both direct and indirect causation are found in all the languages.

D. It has been claimed typologically that the causative verb never places the causee in the nominative case.

Choose the most appropriate answer from the options given below:

Rumeicbiaur & frerr 3 foweifeiRaa 3 A Blot - A weror A 3 ?

A. Yrumeidbiaszur 6t gfdpn fopen &6t H=iisior - gprar i gfy ol 3

B. Qruneidiaun faralya wu 3 ar wuyfprcad wu 3 a1 Siell 3ul 3 dlar 3

C. 209ft arrunail 3 yeasr sl s1gea1st Yot Sloil UIg SIred 3

D. yzeudsnicrs U A grar fopar sri 3 6 Yruneic fipzm oot off 'gRda’ @1 wat ore 3 oidl aar
il feu sru farasedl 3 A A8 IR D1 TRIel B :



[Question ID = 3529][Question Description = S2_qSNz_PG_LIG_Q54]

A and C only/daet A siiz C [Option ID = 14113]
A, B and D only/dact A, B sfiz D [Option ID = 14114]
A and D only/a@aet A siiz D [Option ID = 14115]
C and D only/aact C sfiz D [Option ID = 14116]

A WN -

Correct Answer :-
e A and C only/dae A siiz C [Option ID = 14113]

55) '‘Communicative Language Teaching'

A. emphasizes using techniques that engage learners in the pragmatic, authentic, functional use of language for meaningful
purposes

B. is another name for direct methods.
C. uses mostly audiolingual devices.

D. emphasizes through concrete learning antiques in the form of “tasks"”, what learners are able to do with the language;
later also known as task based language teaching.

E. used for teaching native language to infants.

Choose the correct answer from the options given below:

IAYUUTURS T fargror -

A. 351 amolidol & GRIIST Dol UR T ol & il el @1 refe g9l @ fore srer & carasiiye, QEIivs iR Yoricad YRIeT 3 eI &
B. yeas1 gurredt @T g1 ol 3

C. 3 sifZrpar 9 Rrdkr 3uazvil (audiolingual devices) @t yier aler 3

D. "orit (tasks)"” @ wu 3 et sifeera af¥viEdl @ Sifve 331 a1 uR o Sar 3 & srar &l AsrIar A frgneff aen ool A AgE 3; ac # A PRI
(task) - smenf¥a smor forgror off war Sial oo

E. o1 yRieT forggaii 1 Softer sirer b1 318101 yotel 2ol @ fere fopan sirar 3
offc feu sru el 3 2 AL IR D1 TRIel B :

[Question ID = 3530][Question Description = S2_qSNz_PG_LIG_Q55]
1. A, Band C only/aaea A, B aiiz C

[Option ID = 14117]
2. Aand D only/@aet A siiz D

[Option ID = 14118]
3. Aand C only/d@aer A siiz C

[Option ID = 14119]
4. A, B and D only/@ae A, B siiz D

[Option ID = 14120]

Correct Answer :-
e A BandConly/@ac A, Bsiiz C

[Option ID = 14117]

56) Which of the following characterize ASD or Autism Spectrum Disorder?

A. Marked impairments in social communication and social interaction.

B. Severe grammatical-structural impairments.

C. Deficits in pragmatics and discourse skills which are also linked with ToM (Theory of Mind) impairments.
D. Auditory perception impairment

E. Difficulties in motor production of speech.

Choose the correct answer from the options given below:

forsoiferRaa 31 A @=m - R v A 3t - siifesa FagH BSiis D asgr 3 :
A. Al FYuvr i AR sia:Rpn 3 ascaye ssafdai
B. =01 - FdeleId sl srsafs



C. id>a gaeI fasiet 3 g1 3k QIfe wloret Sit ToM (20181 sifs ArEs) A off 93 3, Adeh srsafda
D. gfca sradier srsafsai

E. arm Scarvr 3 ofdonsai

il fou s1u frapeul 3 2 & IR BT w6l HIfSIE ©

[Question ID = 3531][Question Description = S2_qSNz_PG_LIG_Q56]

C and D only/@aet C sfiz D [Option ID = 14121]

A, B and C only/d@act A, B siiz C [Option ID = 14122]

A and C only/a@aet A siiz C [Option ID = 14123]

A, B, D and E only/dact A, B, D 3iiz E [Option ID = 14124]

A W N -

Correct Answer :-
e Cand D only/@aer C siiz D [Option ID = 14121]

57) Which of the following are true?
A. Compilers and interpreters are language translators which read and analyze source code.

B. A compiler produces a program equivalent to the source program in a target language, usually object or assembly code
but also sometimes C.

C. An interpreter directly executes the source program.
D. Languages with significant static properties like FORTRAN, Ada, C+ + are almost always interpreted

Choose the most appropriate answer from the options given below:

forgatferRaa 3t 3 dlet -A deret Aca 3 ?

A. @urser? 3R Y UM GIdIGD BId 3 Sl JAd B DI UGD2 IADI fassuur wad

B. ®surscrR cigA »ren # A Yo D A YIoJIA Slford Bl 8, Sl YRI: 3ifesiae AT 3RIecH dc 3Idr & Uz ol - dur C st
C. ez e Qg DI Yeagt wu A foreurcor waar 3

D. w1é¥1, udlu siik C++ il Asrayui spuremit arcil siTrsii &l cewReI a9 RIRR &I Sl &

il fou s1u frapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 3532][Question Description = S2_qSNz_PG_LIG_Q57]

A, B and D only/a@aet A, B siiz D [Option ID = 14125]
A, B and C only/@aet A, B iz C [Option ID = 14126]
B and D only/a@qet B siiz D [Option ID = 14127]

B, C and D only/dact B, C sfiz D [Option ID = 14128]

A W N -

Correct Answer :-
e A, Band D only/aaet A, B siiz D [Option ID = 14125]

58) Match List | with List Il

List | List Il
A. Logographic|l. IPA
B. Syllabic Il. Chinese

C. Alphabetic |lll. Latin
D. Linguistic |IV. Japanese
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxet -1 oxeht -1l
A. ores - R Adelt l. 35 i ©
B. smgifsam 1. <hoft
C. aimorafdfc Il dfear
D. suftas IV. Siureft

offa fou s1o frpeul 3 3 A IR gforw ¢
[Question ID = 3533][Question Description = S2_qSNz_PG_LIG_Q58]

A-1,B-1l,C-1ll,D-IV[Option ID = 14129]
A-IV,B-1lll,C-1l,D-I[Option ID = 14130]
A-1l,B-1l,C-1,D-IV[Option ID = 14131]
A-1l,B-IV,C-lll,D-1[Option ID = 14132]

A W N -

Correct Answer :-
® A-|,B-1l,C-Ill,D-IV[Option ID = 14129]



59) Match List | with List Il

List | LList Il

IA. Roman Jakobson and Morris Halle (1956)|. Sound Patterns in Language
B. Noam Chomsky and Morris Halle (1968) |Il. Fundamentals of Language

C. Edward Sapir (1925) Ill. Patterns of Sounds

D. lan Maddieson (1984) IV. The Sound Pattern of English
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 Rrt -1

A. ol Sicbatot 3iiz Aifed arct (1956) |. ArSs Ucofer sof dledst

B. oitar dige<hl aiiz #lf¥er arer (1969) Il. BswdiccH sife dsdst

C. gsad adiz (1925) 1. dcofst sife AESST

D. sura dfsaa IV. w1rss ticof sifw Efdcror

ofl fou o1 frpeul 3 3 A IR gforw ¢
[Question ID = 3534][Question Description = S2_qSNz_PG_LIG_Q59]

A-11,B-1,C-IV,D- Il [Option ID = 14133]
A-11,B-IV,C-1,D- Il [Option ID = 14134]
A-1,B-1l,C-IV,D- Il [Option ID = 14135]
A-11,B-1ll,C-1IV,D-I[Option ID = 14136]

A W N -

Correct Answer :-
e A-Il,B-1,C-1IV,D-Ill [Option ID = 14133]

60) Match List | with List Il

List | List Il

A. Homophonous I. A form that can be attached at the end of a

morpheme

P word
B. Exocentric Il. determines the grammatical category and
compound the meaning of a compound

C. Head of a compound |[lll. a compound word with no head

IV. a morpheme that has the same phonetic

D. Enclitic
shape but different semantic functions

Choose the correct answer from the options given below:

et -1 B et -1l A e Hifde
et -1 et -l

A. 3ol wftet ||, U RRY 9rsc @ 3id 3 SIIST SIf ADdT &

B. 30t DIOGL | et Bt cerraforas Yot e aref Rrerfeer aea 3

C. a1 1 yerot ||, f&en germer orec @ IWeRd 91

IV. it fSra1 Faferd R Adiror 3 cifdber fireor aref
Hidell gorf 3
il 3w o1 el 3 A At IR gfom :

D. gaioRit

[Question ID = 3535][Question Description = S2_qSNz_PG_LIG_Qé60]
1. A-1l,B-11,C-1,D-1IV

[Option ID = 14137]
2. A-1,B-1l,C-IV,D-1ll

[Option ID = 14138]
3. A-IV,B-1Il,C-1l,D-1

[Option ID = 14139]
4. A-11,B-11,C-IV,D-I

[Option ID = 14140]

Correct Answer :-



e A-Il,B-1I,C-1,D-1IV

[Option ID = 14137]

61) Match List | with List Il

List | List Il
A. Weak feature |l. Checking can wait until spell-out.
B. Burzios' o,

L. Il. Only verbs that can express agency, volition or
generalization . R

cause and can assign accusative case

C. Explanatory lll. Stage which connects syntax and the
adequacy conceptual- intentional systems

IV. Accurate construction of a language acquisition

D. Logical f
ogical form odel

Choose the correct answer from the options given below:

il -1 @1 3 -1l 2 afera HifSte ¢
et -1 et -1l
A. 319 aur ||, I 33T A ARBIT DI FMBIA AT SIT ADAT 3

B. afSkil @1 Il. Baea d=it RpArRI St weidl, FATST 3erdar BRI B RATP Bl
i [E il dR® @) forra o ADdl T

C. Rdaoncas |lll. gs srazen Sii arafdeRIra 3R AdcUlicdd - Ayl
rRIfeer guirchl @1 Siiscdl 3

D. asasaa
Ret

IV. fop=ft siman sif2eyaur dise & A Fzaon

offc feu oru frpedl 3 3 18 3R gfore :

[Question ID = 3536][Question Description = S2_qSNz_PG_LIG_Q61]
1. A-lll,B-IV,C-1,D-1l

[Option ID = 14141]
2. A-11,B-1,C-1I,D-IV

[Option ID = 14142]
3.A-1,B-11,C-IV,D-1I

[Option ID = 14143]
4. A-IV,B-1Il,C-11,D-I

[Option ID = 14144]
Correct Answer :-
e A-Ill,B-IV,C-1,D-1

[Option ID = 14141]

62) Match List | with List Il

List | List Il

A. Give me that book |. Exophoric gestural
B. | like this city Il. Discourse Deictic
C. You are wrong. That is exactly what she said.|lll. Exophoric Symbolic
D. | hurt this finger. IV. Exophoric

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifste ¢

Rxet -1 et -l

A. Bra it Sc g |. afdgf=dt sierfagdt
B. a$ ez &1 Rl Il. Qiftp forcoft

C. g 3R 351, S go1 gasiacddl oaie off As Il. afd3xdl idarcas
D. sir$ &¢ f3s1 fibore IV. afdgdt

ofla fou o1 freseul 3 3 A IR gforw ¢
[Question ID = 3537][Question Description = S2_qSNz_PG_LIG_Q62]



1. A-1,B-1l,C-1ll,D-IV[Option ID = 14145]
2. A-IV,B-1ll,C-1IlI,D-1I[Option ID = 14146]
3. A-ll,B-1Il,C-1,D-IV[Option ID = 14147]
4. A-1I,B-1l,C-1,D-IV[Option ID = 14148]

Correct Answer :-
e A-|,B-1l,C-Ill,D-IV[Option ID = 14145]

63) Match List | with List Il

List | List Il

I. Morris

A. Social motivation of dch
ocial motivation ofr a sound change Swadesh

B. Translation of the morphemic constituents of a
word or phrase item-wise

Il. Grassmann's

Law
into equivalent morphemes in another language
C. Regular dissimilation in Greek and Sanskrit L. William
wherein two roots with two aspirated stops and La‘bov
where the first dissimilates to an unaspirated stop
D. Lexicostatistics IV. Calque

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et - et -1l
A. fooft o1 uf¥ader @1 AN sifigzer 5

ager
B. fob=il oreg srerar ara=iiorn o> Hftifdres Tcml o1 ol sroer simar @5 |Il. sjizdior
RIAdCI St 3 ASAR 1eldIe I ORI
C. 3fies 3iR Jrapa A forafdra farerit sraor R A1 FaTyreT FUelt arcr ||, faferer
G errgail 3t A gerr oot srcuygfora Fuof 3 faerRitsrdact dar 3 eTrea
D. orec if¥crdht IV, ®lcm

il f3u o1e fyscul 3 A At IR gfom :

[Question ID = 3538][Question Description = S2_qSNz_PG_LIG_Q63]
1. A-1l,B-1,C-1IV,D-1l

[Option ID = 14149]
2. A-1,B-IV,C-1ll,D-Il

[Option ID = 14150]
3. A-lll,B-IV,C-1l,D-1I

[Option ID = 14151]
4. A-IV,B-1l,C-1ll,D-I

[Option ID = 14152]
Correct Answer :-
® A-1l,B-1,C-1IV,D-1ll
[Option ID = 14149]

64) Match List | with List Il

List | List Il

A. Jean Aitchison |I. Language Change: Progress or Decay?

B. J.C. Chambers and P. .
Il. Dial [

Trudgill lalectology

C. Susan Gal lll. Language Shlft:' Soc.:l.al Determmfmts of
Language Change in Bilingual Austria

D. Janet Holmes IV. Women, Men and Politeness

Choose the correct answer from the options given below:



et -1 Bt 3l -1l A AR Hifre

et | et -1l
A. Sfiol oferTer |. smer uf¥acer : gidgem am grr ?
B. SI. 2ft. Jeeed iz dl
1. archifasmer

ST

< 11, st forreter @ fgameht sif3cem 3 simem uf¥ader @
C. Jsiret St
D. Store dicad IV. #fdemd, gay s srean

ofia 3w o1 el 3 A At I gfom :

[Question ID = 3539][Question Description = S2_qSNz_PG_LIG_Qé64]
1. A-1,B-1I,C-llI,D-1IV

[Option ID = 14153]
2. A-11,B-1,C-1V,D-1I

[Option ID = 14154]
3. A-1,B-11,C-1IV,D-I

[Option ID = 14155]

4. A-IV,B-1lI,C-1,D-1
[Option ID = 14156]

Correct Answer :-

e A-I,B-1I,C-Illl,D-1IV

[Option ID = 14153]

65) Match List | with List Il

List | List Il

A. Isolating I. Swahili

B. Agglutinating|ll. Latin

C. In fleeting [lll. Eskimo

D. IncorporatinglV. Vietnamese|
Choose the correct answer from the options given below:

el -1 @ 3 -1l 31 Jafera bifSie

et -1 il

A. forisIor |. Fanfaeft
B. istor 1. difest

C. fasiftp ll. oRar
D. Jarderet IV. ferIcotmatt

il 3w o1 fycul 3 A At IR gfom :
[Question ID = 3540][Question Description = S2_qSNz_PG_LIG_Q65]

A-1,B-1,C-1IV,D- Il [Option ID = 14157]
H,B-1l,C-1,D-IV[Option ID = 14158]
II,B-1l,C-IV,D-I[Option ID = 14159]
IV,B-1,C-1l,D- Il [Option ID = 14160]

A wWN =

A -
A -
A -

Correct Answer :-
e A-1,B-1l,C-IV,D-Ill [Option ID = 14157]

66) Match List | with List Il

List | List Il

A. Broca's aphasia|l. Difficulties in motor production of speech

B. icke' . 1
Wernicke's Il. Loss of comprehension ability

aphasia
C. Anomic lll. Loss of language as a symbolic system and
aphasia difficulties in grammar




IV. Difficulty in finding the appropriate names of

D. Dysarthria X
objects, people, places, etc.

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSe :

et -1 et -1l
A- o I. Qofier aray Scarur 3 wfdommsat
B. afoids
1. sradier graar 3 ot
sdtren ?
C. aImeret lll. gelirear dq @& u 3 fts S1@ar B 31T 3 RIBoT 3
TSR CHGTIEN

D. Rafdrn V. avq, <o Farel snfe @ AARM ol Gool 3 DIdelrs

oiiI fSu are famedl 3 A A8 IR ot :

[Question ID = 3541][Question Description = S2_qSNz_PG_LIG_Q66]
1. A-ll,B-IV,C-1I,D-1

[Option ID = 14161]
2. A-1l,B-11,C-IV,D- |

[Option ID = 14162]
3.A-1,B-1l,C-1,D-IV

[Option ID = 14163]
4. A-1,B-11,C-1ll,D-1IV

[Option ID = 14164]
Correct Answer :-
e A-Ill,B-IV,C-1l,D-1
[Option ID = 14161]

67) Match List | with List Il

List | List Il

A. Cummings, L. (2014) I. Neurolinguistics and Linguistic
Aphasiology: an Introduction.

Il. Cambridge Handbook of

B. h, B. E. (201
Murdoch, (2010) Communication Disorders.

C. Caplan, D. (1987) IIl. Introduction to Language Pathology.

D. Crystal, D. and Varley, R. |IV. Acquired Speech & Language
(1998) Disorders: A Neuroanatomical and
Functional Neurological Approach.

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsie :

et -1 et -1l
. . skl Us RiffaRce woRridish : vor
A. wfiioar, v, (2014) 7,7 ©

B. @i, . $. (2010)[ll. DBiRgst Ssgw 3iie DwRIfordIeT 3A3iisH
C. oreetret, 3t (1987) |lll. $saret ¢ ciadst telleiisit

D. fipR<d, 3t siiz IV. srqarrs A os ciods f3siisd | U sRuaciforme
aretl, 3m=. (1998) U WBaglelel RIS TYIeT

offc feu aru fpedl 3 A 38l 3R gfore :

[Question ID = 3542][Question Description = S2_qSNz_PG_LIG_Q67]
1. A-IV,B-1l,C-1,D-1lI

[Option ID = 14165]



2. A-1,B-1l,C-1ll,D-1IV

[Option ID = 14166]
3. A-1,B-1l,C-1,D-IV

[Option ID = 14167]
4. A-1,B-IV,C-1,D-1Il

[Option ID = 14168]
Correct Answer :-
e A-IV,B-1l,C-1,D-1I
[Option ID = 14165]

68) Match List | with List Il

List | List Il

A. Monitor Model Hypothesis |I. P. Skehan (1998)

B. Interaction Hypothesis II. S. D. Krashen (1985)
C. Cognitive Approach I1l. M.H. Long (1983)

D. Notional Syllabuses IV. D.A. Wilkins (1976)
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 il

A. uf¥digrr forgel Yraameusnt |. di. ¥@set (1998)

B. srceilca g grameusit Il. w=1. 1. qr9ret (1985)
C. JSIGIcH® SUPHT lll. war. wa. <ier (1983)
D. siffigriure urgfaazur IV. 31 u. fafewsn (1976)

il 3w o1 fyeul 3 A At I gfom :
[Question ID = 3543][Question Description = S2_qSNz_PG_LIG_Q68]

1. A-1l,B-1ll,C-1,D-IV[Option ID = 14169]
2. A-1,B-1l,C-1ll,D-IV[Option ID = 14170]
3. A-1Il,B-IV,C-1,D- Il [Option ID = 14171]
4. A-11,B-1,C-1l,D-IV[Option ID = 14172]

Correct Answer :-

69) Match List | with List Il

List | List Il

A. She really blew her lid. I. Simile

B. The Pentagon refused to comment on the story. Il. Paradox

C. Anger is like a heated fluid in a container. Ill. Metonymy|
D. Heard melodies are sweet, but those unheard are sweeter [I[V. Metaphor

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rt -1 Rt -l

A. off ¥reil ¢f 32 fers |. 3

B. g Uceral Rugss ¢ widic sifol ¢ 331 Il. fRemRT
C. GoI2 361 IS U BIeS UcIgs Sol 31 dBolR Ill. 3uetgror
D. 33 AN 3= ¥dle ac QST 3f618s 3R Idlc IV. wae

oiil feu aru fawedl 3 A A8 3R gfore :
[Question ID = 3544][Question Description = S2_qSNz_PG_LIG_Q69]

1. A-1ll,B-1IV,C-1l,D-[Option ID = 14173]
2. A-IV,B-1ll,C-1,D- Il [Option ID = 14174]
3. A-11,B-1,C-IV,D-Illl [Option ID = 14175]
4. A-1,B-1l,C-1ll,D-IV[Option ID = 14176]

Correct Answer :-
e A-Ill,B-IV,C-Il,D-I[Option ID = 14173]

70) Which order of affixation is preferred in the concatenation of a word in morphology?
A. Suffix

B. Circumfix



C. Prefix
D. Infix
E. Ablaut

Choose the correct answer from the options given below

SR 3 ores & Hojwcrer 3 YrRIor @ 631 o B afferar & st 3 :
A. arger

B. uftgera

C. gdyerx

D. stoa:gerRr

E. sragyfer
ofia 3w a1 faaseul 3 A I8 IR DI RIS BRI ¢

[Question ID = 3545][Question Description = S2_qSNz_PG_LIG_Q70]

1. A, B, C, D, E [Option ID = 14177]
2. C, B, E, A, D [Option ID = 14178]
3. A, D, E, C, B [Option ID = 14179]
4. C, A, D, B, E [Option ID = 14180]

Correct Answer :-
e A B, C, D, E[Option ID = 14177]

71) Arrange the following authors and their work in the correct chronological order:

A. Jakobson, R. & Halle, M. Fundamentals of language

B. Kenstowicz, M & Kisseberth, C. Generative Phonology

C. Trubetzkoy, N.S. Principles of Phonology

D. Chomsky, N. & Halle, M. The Sound Pattern of English

E. Jakobson, R., Fant, G. & Halle, M. Preliminaries to Speech Analysis: The Distinctive Features and Their Correlates

Choose the correct answer from the options given below

8 DIcIapd bl usdrel ®3 ©

A. SioeRIol, 3R 3R Blcl, Td. . BSHEiceA i ciodst

B. @difds, wan. 3iik fopzraed, 1. : SioRféa wielcisit

C. gdcomPl, wel. T. : fYRiuca 3ife wielldish

D. di=<hl, wa 3iiz 8let, wa. : g ARS Ucot 3w sEeror

E. Siotaato, 3R, ®c Sl 3iiz dld, va. : {Yfeneis ¢ wdia venfeRra (¢ RR<Rea Biaef vs 33k wifvdca
il fou s1u frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 3546][Question Description = S2_qSNz_PG_LIG_Q71]

1. B, C, D, E, A [Option ID = 14181]
2. D, B, A, C, E [Option ID = 14182]
3. E, A, B, D, C [Option ID = 14183]
4. C,E, A, D, B [Option ID = 14184]

Correct Answer :-
e B, C, D, E, A[Option ID = 14181]

72) Arrange the following in chronological order

A. Steven Pinker, ‘'The Language Instinct ’

B. Noam Chomsky, ‘Conditions on Transformations *

C. Luigi Rizzi, ‘Relativized Minimality *

D. Andrew Radford, ‘Syntax: A Minimalist Introduction’

E. Mark Baker, ‘'The Atoms of Language: The Minds' Hidden Rules of Grammar '

Choose the correct answer from the options given below



forgsiferRad @) dIcIRAIRIR JRaalFerd @3 :

A. ¥gel e, ' g dledsr sR<ac’

B. ofter diee<bl, '®3lerea sifel girwidtoret

C. oefl f¥sell, ' Rafearsss fiforaferdt’

D. e53swIs8, 'Ritaa : v fiforafere sdisaermer

E. 315 953, ‘s UedA 3B ciodel : ¢ ARSA 33d 3dl 3B PR’

ofid fou o1 feseal & A A8 IR BT <RIt BT :

[Question ID = 3547][Question Description = S2_qSNz_PG_LIG_Q72]

1. B, C, A, D, E [Option ID = 14185]
2. A, B, E, C, D [Option ID = 14186]
3. E, D, A, B, C [Option ID = 14187]
4. C,D, A, B, E [Option ID = 14188]

Correct Answer :-
e B, C, A, D, E[Option ID = 14185]

73) Arrange the following in chronological order

A. Lakoff, George: On the Nature of Syntactic Irritability

B. Lakoff, George: Hedges: A Study in Meaning Criteria and the Logic of Fuzzy Concepts
C. Lakoff, George: On Generative Semantics

D. Lakoff, George: Presupposition and Relative Well-formedness

E. Lakoff, George: Frame Semantic Control of the Coordinate Structure Constraints

Choose the correct answer from the options given below

ICH SICi &

A. dBiw, Sifst ¢ sifel g o sl RiecRred s¥ogafydt

B. diwiw, Sifsf : 3916t : 31 3¢l sof #ifoier @musdifyn Us g difSio sl usshl wictca
C. doiw, Sifst : sifer SloRfea Ruifka

D. diwiw, Sifst @ U} AdifSieret s Rafea da wrleRt

E. dioiw, Sifst : © aRpifce g e ¢ DIsiifSolc I¢aar dRIcRT

i) feu s1u faresedl 3 A A8 IR D1 WRIet B :

[Question ID = 3548][Question Description = S2_qSNz_PG_LIG_Q73]

1. A, B, C, D, E [Option ID = 14189]
2. B, A, D, C, E [Option ID = 14190]
3. A, C,D, B, E [Option ID = 14191]
4. E, D, C, B, A [Option ID = 14192]

Correct Answer :-
e A, B, C, D, E[Option ID = 14189]

74) Arrange the following names in terms of their contribution from the earliest to the latest.
A. Hermann Paul

B. Jakob Grimm

C. Karl Verner

D. August Schleicher

E. Hermann Grassmann

Choose the correct answer from the options given below

forgsiferRae ol @l o1 ABICIEl D IGRIIR Usdl A dIc D Bl 3 Foaafderd o3 :
A. sdfel dfer

B. Sia By

C. orct sofz

D. sifsree ¥R



E. s3fo1 sjfmdiar
oiid f&u s1u farapeul 3 A 2t IR BT R DT
[Question ID = 3549][Question Description = S2_qSNz_PG_LIG_Q74]

1. B, D, E, C, A [Option ID = 14193]
2. D, B, A, E, C [Option ID = 14194]
3. A, E, C, D, B[Option ID = 14195]
4. D, C, E, B, A[Option ID = 14196]

Correct Answer :-
e B, D, E, C, A[Option ID = 14193]

75) Arrange the following in chronological order

A. Nikolas Coupland and Adam Jaworski. 'The New Sociolinguistics Reader’.
B. David Crystal. ' Language Death’.

C. Ralph Fasold. ’ Sociolinguistics of Language’.

D. Joshua Fishman. ' Readings in the Sociology of Language’.

E. John J Gumperz. ' Language in Social Groups’.

Choose the correct answer from the options given below

forgatferRaa @) wrenlmlie o 3 e :

A. forpIee oudts sk usa Jdrat & oy Afdrnfiffalca s’
B. 3fas fpeea, "dedsr 3"

C. Icw Balcs, "AfdRIftiRalica sife deoast’

D. sirgrar frerdiel, "$f3s1 3ot & AfIrIIciish sifw st

E. Sifor St sgust ‘disdst so1 Alere I’

oifa fou s1e frpeul 9 A A IR DI TRI6l HIfS ¢

[Question ID = 3550][Question Description = S2_qSNz_PG_LIG_Q75]

1. A, B, C, D, E [Option ID = 14197]
2. D, E, C, B, A [Option ID = 14198]
3. E, A, D, C, B [Option ID = 14199]
4. C,E, D, A, B[Option ID = 14200]

Correct Answer :-
e A, B, C, D, E[Option ID = 14197]

76) Right hemisphere language disorder is characterised by

A. Structural Language Disorder.

B. Deficits in pragmatics and discourse.

C. Impaired comprehension of non-literal language, e.g. metaphor, idioms, proverbs.
D. Poor use of prosody.

E. Problems with cohesion and coherence.

Choose the correct answer from the options given below

Af¥aes @ 9t siciel A Scusel HWI fAdR @ sifdrcigior 3 :

A. ITerca® sl faor

B. wuasr ik Qiftp # sRT

C. sronféces sruT JaSIel 3 a1eH, SiA - PUD, oI AR climIftpal

D. 85 3iiz s9I gyare R YT

E. Jaftp siiR JieIfcr el IeR=AIrRL

sifa feu oru fameul 3 A JEl IR @I w6l HIfIT ;

[Question ID = 3551][Question Description = S2_qSNz_PG_LIG_Q76]

1. A, B, C and E only [Option ID = 14201]
2. A, B, Cand D only [Option ID = 14202]
3. B, C, Dand E only [Option ID = 14203]



4. B, C and E only [Option ID = 14204]

Correct Answer :-
e A, B, CandE only [Option ID = 14201]

77) Arrange the following milestones in the acquisition/development of language in babies in the correct order:
A. Holophrastic stage

B. Two- word stage

C. Babbling

D. Cooing

E. Recognition of mother's voice

Choose the correct answer from the options given below

el 3 a1 @ 3rstol / Ryt 3 foeifeRad dfia & ucer v fla g A A 3 .
A. oIsGHIRIP TRUT

B. f&orss @rur

C. s9eon

D. fepermon

E. &t &b sirarst usareten

il f3u a1 fraseul 9 A W) IR BT TRl HIRIE ©

[Question ID = 3552][Question Description = S2_qSNz_PG_LIG_Q77]

1. C-E-D-A- B [Option ID = 14205]
2. C-D-E-A-B[Option ID = 14206]
3. E-D-C-A-B[Option ID = 14207]
4. D-E-A-C-B[Option ID = 14208]

Correct Answer :-
e C-E-D-A-B[Option ID = 14205]

78) Given below are two statements

Statement I: Writing as a means of representing linguistic expression probably first arose in Mesopotamia at the end of the
fourth millennium BC.

Statement Il: However, some recent discoveries suggest that the earliest writing in Egypt might be contemporaneous or
even earlier.

In light of the above statements, choose the most appropriate answer from the options given below

ofil &1 werer Ru sme 3 :

@l - | : 3Rl siffrcafts @1 gfersfiea wor & Arerer B WU 3 el BT YR Aad: FAICIPIRI 3 a9 AsYres §. Y, @ 3id 3 g3
Dol - || : §1 z1c1 b oo sl A yedla 3ar 3 & PRy o1 griioast csol sdad: AdAPIcilol AT 3R 3f user @1 8l

SWRITP Dol @ 3MIelld #, ofld 16w 31w farapedl 3 A AR IUuYTD IR DI TRIol BT ©

[Question ID = 3553][Question Description = S2_qSNz_PG_LIG_Q78]

Both Statement | and Statement Il are correct/weret | 3iiz || gloif 2@t & [Option ID = 14209]

Both Statement | and Statement Il are incorrect/aermr | 3iiz |l Xail steia & [Option ID = 14210]

Statement | is correct but Statement Il is incorrect/@emer | 3t 8, fpoq @t |l st & [Option ID = 14211]
Statement | is incorrect but Statement Il is correct/aemr | st &, o @eret |l 3t & [Option ID = 14212]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iR 11 Gloll 28t & [Option ID = 14209]

79) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Sonority is an auditory quality of speech that helps define the syllabic nucleus in terms of sonority peaks.

Reason R: Sonority gives a scale or hierarchy for the audibility feature of the sound which is the overall loudness of a sound
relative to the others of the same-pitch, stress and duration.

In light of the above statements, choose the correct answer from the options given below

Sii<I ST Dol fGu ae 8 : uw 3ifiped (A) @ U I feilRada 3 dl grI 33D PRI (R) D wu d @



aifdrperet (A) © 9JfePRIAT Iy T U YAUIIcHD VT 3 Sl offereriar OrRl @ e 3 sneif¥® g @I ufesnita mol i R alar 3

@RI (R) : 9fferreaar Faet &t gfaviRiar spu1 & fere v Firet ar sifrad yerel @l 3 Sit b2l Taer &t wee) gacran et 3 Sit 321t Fawmm,
eI 31 DIcTaf?l arel 3161 ¥doil of ATUS® Bl 3

SWRITP Dol D 3MIclld #, ofld 18w 31w farpedl 3 3 AT IuPeD IR DI TRIol IS ©
[Question ID = 3554][Question Description = S2_qSNz_PG_LIG_Q79]

1. Both A and R are true and R is the correct explanation of A/(A) iz (R) dlali 31 8 3R (R), (A) &t 318 =mzn & [Option ID = 14213]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) gleil 31 & wag (R), (A) & 3t waren orét & [Option ID = 14214]
3. Ais true but R is false/(A) =1 @ weog (R) sri=r & [Option ID = 14215]

4. Ais false but R is true/(A) sric @ wog (R) acx & [Option ID = 14216]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sz (R) gleil 31 & 3iR (R), (A) &I 38t =z 8 [Option ID = 14213]

80) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: A bleeding relationship is one where an earlier rule (A) removes the structural representation to which a later
rule (B) would otherwise have applied, and thus reduces the number of forms that can be generated.

Reason R: A counter-bleeding relationship is one where the application of rule (A) creates a structural representation to
which another rule (B) is applicable, and thus increases the number of forms that can be generated.

In light of the above statements, choose the correct answer from the options given below

ofid A1 werot fSu a1 3 : U sifdrverct (A) & wu 3 filaa 3 @ a1 sud orur (R) & »a 3 :
sifdrperet (A) : U arerd Ade ds 3 Rl v ydadf orpr (A) 31 Fdciicad gfeRsuvt ol AATH B2 Sl & SR uad! formr (B) 3 soqgRiet
fopan Brar 3iiz 3cusol 3l Abal arct WUl 6 Izear A wall Bl

®rRuI (R) : ue gfer - arere HAder ag 3 PR forp (A) ve 31 IRdolca® gfersuvl JRIa odar 3, Sr1ad e sie formar (B) @1 sioqgRIIeT 3t
APl & 3R 3 YPR ool 3l Apol drel WUl Dl Az 3 giig Bl 3,

SWRID Pl D el 3, ofidl fGu sre frpedl 3 A AR WD IR DI RIol DIfSIT :
[Question ID = 3555][Question Description = S2_qSNz_PG_LIG_Q80]

. Both A and R are true and R is the correct explanation of A/(A) siiz (R) il 31 8 3z (R), (A) &t 26 =en & [Option ID = 14217]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 & udoq (R), (A) &I 38! =i o8l & [Option ID = 14218]
. Ais true but R is false/(A) 3= 8 weag (R) srRi=x & [Option ID = 14219]

. Ais false but R is true/(A) sricr 8 woq (R) A= & [Option ID = 14220]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 3 2 3R (R), (A) &t 38t =mezn & [Option ID = 14217]

81) Given below are two statements
Statement I: Segmental phonology analyses speech into discrete segments, such as phonemes.
Statement II: In prosodic phonology, the notions of phonematic unit and prosody are proposed.

In light of the above statements, choose the correct answer from the options given below

off< <1 werer R a1 3 :

el - | Hsieae raforafisier ara o fftcer st Sit raforil # frafta o 3
@eret - |l : 31 Faforsr fsier 3 FaforRncA® s1E iR FaoRT & frar yraifaa fpu s 3
SWRIFP PUoll D 3MIelld #, ofld 3w 31w frpedl 3 A AR IuYTP IR DI TRIol HIPIT ©
[Question ID = 3556][Question Description = S2_qSNz_PG_LIG_Q81]

Both Statement | and Statement Il are true/aserwr | aiiz |l Sioit 2er & [Option ID = 14221]

Both Statement | and Statement Il are false/@ermr | 3iiz || Siaif sRicr & [Option ID = 14222]
Statement | is true but Statement Il is false/@emor | 31 8, fbog @eret |l sRIr & [Option ID = 14223]
Statement | is false but Statement Il is true/memwr | sRic &, fboq et || A= & [Option ID = 14224]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/emr | sz |l Gloil a1 & [Option ID = 14221]

82) Given below are two statements
Statement I: Derivational affixes always change the grammatical category (class) of the word to which they are added.
Statement II: Inflectional affixes don't change the grammatical category (class) of the word to which they are added.

In light of the above statements, choose the correct answer from the options given below

ol Sf weret 3w a1 3 ¢



@ - | : Fgeaftrore grrI 33191 3A 9166 &l =M 9)ufl acar ¢d 3 Rl d SIS sid 3
Dol - || : Reiftp Yensl YRRI 33 9166 T 31¢f o181 el & Rl d SIS S &
SWRID Dol @ 3MIclid #, ofid f6u 31w famedl 3 A AR IUYTD IR DI TIol HIfSIT ©
[Question ID = 3557][Question Description = S2_qSNz_PG_LIG_Q82]

Both Statement | and Statement Il are true/asermr | siiz |l Sreif 31 & [Option ID = 14225]

Both Statement | and Statement Il are false/emr | 3iiz || 6l sricr & [Option ID = 14226]
Statement | is true but Statement Il is false/memwer | 311 2, fbog @t |l sRicr & [Option ID = 14227]
Statement | is false but Statement Il is true/ermel | 3RI=I 3, fbog @eret || 3r & [Option ID = 14228]

AW N =

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | siiz |l leif 31 & [Option ID = 14225]

83) Given below are two statements

Statement I: A non-finite clause is a clause that does not morphologically express the tense relations of past, present or
future.

Statement Il In addition to the above condition, a non-finite clause does not have a modal auxiliary like 'should’, 'can’,
'must’, etc.

In light of the above statements, choose the correct answer from the options given below

ofid <1 Dot Ru sme 3 :

@l - | : P IRTHIRIPT IUAIRI VAT IUAIGR] 3 Sil JUGACHD WU A 9, deddrel serar st wiet JAdel @l ifierd o 3
@erol - || : Swfw ord & srcimar, v sRPENRID Sudra 3 '9s’, 'Pot’ , ‘Hc seAIfe SIA gitrarae FerRIe g 3 od At ¥
SWRID Pl D el 3, ofldl fGu sre frpedl 3 A AR WD IR DI RIol DIfSIT :

[Question ID = 3558][Question Description = S2_qSNz_PG_LIG_Q83]

Both Statement | and Statement Il are true/emr | siz |l Gleil 21 & [Option ID = 14229]

Both Statement | and Statement Il are false/@emwt | 3z |1 Gloil 3Rt & [Option ID = 14230]
Statement | is true but Statement Il is false/@erme1 | 3 8 , fboq @eret |l sRir & [Option ID = 14231]
Statement | is false but Statement Il is true/memw | sRicr 8 , fbog @ere || A= & [Option ID = 14232]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are true/emr | sl |l Glelf a1 & [Option ID = 14229]

84) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The readings of an indisputably ambiguous word such as "BANK" display another property besides discreteness.

Reason R: Antagonism is regarded as a criterion for ambiguity.

In light of the above statements, choose the most appropriate answer from the options given below

ofid A1 werot fSu a1 3 : U sifdrverct (A) & wu 3 filaa 3 @ gaet sud @Rl (R) & »a 3 :

sifrperet (A) : forfdfare a A seImrefas 9rec Arem "BANK" o1 urs faferepar o siferf¥ed uas - garr vt gorfar 3
®RUT (R) : E&AT @Y oIdIeiasdr O ATIGS oIl SIIAT &

SWRIRD DUl D 3HIclid 3, oill fGu a1e fdamedl 3 A A IUYTD IR DI WRIol DI :

[Question ID = 3559][Question Description = S2_qSNz_PG_LIG_Q84]

. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) Sleil 31t 2 iz (R), (A) & & = 3 [Option ID = 14233]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) clail 3@t 8 woq (R), (A) 6t 3@ = oidt & [Option ID = 14234]
. Alis correct but R is not correct/(A) 3 & wesg (R) 3dt aidt & [Option ID = 14235]

. Ais not correct but R is correct/(A) 3t o@t 8 weeg (R) 3t & [Option ID = 14236]

A w N =

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3fiiz (R) gleil 28t & 3z (R), (A) 6t 3& wmen 8 [Option ID = 14233]

85) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: The slogan associated with opponents of the Neogrammarian position is ‘each word has its own history.'
Reason R: The concept of ‘lexical diffusion’ is a challenge to the regularity of sound change.

In light of the above statements, choose the most appropriate answer from the options given below



ofid A1 werol fSu a1 3 : U sifdrverct (A) & wu 3 filaa 3 a a1 sud orur (R) & a3 ¢
stffrperet (A) : oladz01e saf¥erfer & gferafdril A AR ot 3, 'YeAd 916G I 31Ul SRIGRT 3ldr 3
®rRuI (R) : '®lopE AR &I s@emvn Fdol uf¥ade &I forifdraar o fere ves golidl 3

SRS DYoll B 3D 3, ofll [Su 31u fdmeul 3 A AR IWID a2 DI TRol DIfSTT ©

[Question ID = 3560][Question Description = S2_qSNz_PG_LIG_Q85]

1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) aail 2t 8 8l (R), (A) 6t 31t =me=n & [Option ID = 14237]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) clail 2@t 8 uoq (R), (A) 6t 3@ =men ordt & [Option ID = 14238]
3. Ais correct but R is not correct/(A) & @ uw3sq (R) 3@t a1dt & [Option ID = 14239]

4. Ais not correct but R is correct/(A) 3@t ot 8 uvsg (R) 28t 8 [Option ID = 14240]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) gleil 28t & 3z (R), (A) &t 3 wmen & [Option ID = 14237]

86) Given below are two statements

Statement I: In a study of language use in Strasbourg, Gardner-Chloros (1991) shows among other things how switching
between codes, in her case Standard French and Alsatian German, can be an effective neutral compromise for some locals.

Statement Il: Speakers can employ code-switching when the use of French alone might appear to be too snobbish and
Alsatian alone to be too rustic, and is also often necessary when several generations of a family are present and allows for
accommodation across the generations.

In light of the above statements, choose the correct answer from the options given below

oI Sf weret 3w are 3 ¢

DU - | : IgRIETSE, SISoR - aeliRiST (1991) 31 $IT6T 3ERIGT BT YRIIST 3161 dIdid did as golfdr 3 fob b1 yoore @l @ dfa Fdifdier, Sorad
AR I AT B, I 3012 TRATIRIG Sl DI GRIPT B FATeIRI 3 YIdl dee AR D WU 3 8l ADdl &

@l - || : S qePT DI oPIdI & b AT DI ST DI 36 HISI GIf ADAI & add d DIS - ARSI B 8 AUT TRATIRIG DI dael AP Saledl
GoIf DAL & AAT AT AR IA AR 9l 1B BIelr & S il ulkar @ fAaftieor dlsig aldl 3 aq Uvifeal @ fere As sotAfd Sar 3

SWRID DUl D 3Ielid 3, ikl [Gu a1e fdmedl 3 A AR IUYTD IR DI WRIel DI :
[Question ID = 3561][Question Description = S2_qSNz_PG_LIG_Q86]

1. Both Statement | and Statement Il are true/@emwt | aiiz 1| Sleil A & [Option ID = 14241]

2. Both Statement | and Statement Il are false/wewt | 3z || Gi6ll sRicr & [Option ID = 14242]

3. Statement | is true but Statement Il is false/memwer | A1 8, fbog @t |l sRicr & [Option ID = 14243]
4. Statement | is false but Statement |l is true/emol | sRIcI 8 , fboq @ere |l 3 & [Option ID = 14244]

Correct Answer :-
e Both Statement | and Statement Il are true/aermr | siiz |l reif 31 & [Option ID = 14241]

87) Given below are two statements

Statement I: Statements about language universals that relate the presence of one property to the presence of some other
property is known as implicational universals.

Statement II: Implication such as 'if a language has SOV basic word order, it will always have post positions' has no
exception.

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 Dot Ru sme 3 :

@l - | : v spureRt A el o3 spurent & i der Fenfta 2o arer it Ardsilanl I JAdfea wecl o1 Hifdarefes ardila waa
@eoret - || "afe fopeft srar 3 SOV et 9165 - @t 3, ol 336t sdten uRst 3ioY" SiA forfdareif o1 B sraarg ol axer

SWRIFP Pl @ 3Mrelld d, ofld 3w 31u Rrapedl 3 A AR IuYeP IR DI TRIol HIPIT ©

[Question ID = 3562][Question Description = S2_qSNz_PG_LIG_Q87]

Both Statement | and Statement Il are correct/eret | 3z || Gloil 236t & [Option ID = 14245]

Both Statement | and Statement Il are incorrect/a@erwr | iz |l Glali sieta & [Option ID = 14246]

Statement | is correct but Statement Il is incorrect/@emer | 3t 8, fpoq @eret |l st & [Option ID = 14247]
Statement | is incorrect but Statement |l is correct/aemet | siera 3, fibog @erat |1 28 8 [Option ID = 14248]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/emr | 3iiz |l loif 3 & [Option ID = 14245]

88) Given below are two statements

Statement I: Sign language is a system of communication that includes symbolic language like any other natural human
language.



Statement II: Sign language morpho-syntactic structures are based on the spoken language structure used in the region.

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 perer Ru sme 3 ¢

@l - | : A 1 vas AFYUUT gutrctl 3 Rraal siow b1t oft siafdfas areia siranr &t avs yella simar onfdrer axcdl 3
werd - || : JAda s U freRiea Fieet 3 i b dicrarer & sirar el U smentfyd gkt 3

SWRAD Pl D el 3, ofidl fGu sre fravedl 3 A AR IWRITD IR DI RIol DHIfSIT :

[Question ID = 3563][Question Description = S2_qSNz_PG_LIG_Q88]

Both Statement | and Statement Il are correct/aermr | 3z |l Sloil 218t 8 [Option ID = 14249]

Both Statement | and Statement Il are incorrect/a@erwer | iR 1l el sieia & [Option ID = 14250]

Statement | is correct but Statement Il is incorrect/emer | 31t 8, fpoq e |l sieta & [Option ID = 14251]
Statement | is incorrect but Statement Il is correct/@emt | srer &, febog et |l 3@t & [Option ID = 14252]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are correct/emt | 3iiz | cleif 28t & [Option ID = 14249]

89) Given below are two statements

Statement I: "Language development is no longer seen as a process of acquiring abstract rules, but as the emergence of
language abilities in real-time..." is what is termed as Emergentism (Evans, 2009:128)

Statement II: Connectionism in that sense is inspired by "emergentism" which proposes that language is learned through
exposure to language in the environment, the input; thus allowing the construction of associations among units.

In light of the above statements, choose the most appropriate answer from the options given below

i St @eret fou a1 3 ¢

Dol - | : "I PR Bl 31 3R foREI @ 3rsiel BT g @ U 3 18l SH1 ST 3, dfcd aR<dfdad IR A HIWT SIAAIR d PRt @ »u 3
S@|ISe g ...... "' 331 SIS Pal Sl & (sarea 2009 ¢ 178)

Dol - || : 31 DRI # FRiSoEaG (woraiiersta) "SIHSIESIIH A Yfed 8 Sl U8 Yfrurcel 2l & b s uf¥der 3 iier @ Yfel 3snel, 3MIGiol
DATERIIH A AEAL Sl 3, 33 YPR spIsl d Alerl D forfdifer war 8

SWRID DUl D 3Iclid 3, ikl [Gu a1e fdmedl 3 A AT IUYTD IR DI TRIel DI :
[Question ID = 3564][Question Description = S2_qSNz_PG_LIG_Q89]

1. Both Statement | and Statement Il are correct/eper | 3z |l Sieil 2t & [Option ID = 14253]

2. Both Statement | and Statement Il are incorrect/eret | 3iiz || Sl slera & [Option ID = 14254]

3. Statement | is correct but Statement Il is incorrect/aeret | 3& &, fboq e |l siere & [Option ID = 14255]
4. Statement | is incorrect but Statement Il is correct/@emt | st/ &, fboq @eret |l 3t & [Option ID = 14256]

Correct Answer :-
e Both Statement | and Statement Il are correct/@em | 3iiz | cleif 3t & [Option ID = 14253]

90) Given below are two statements
Statement I: WordNets are lexical structures composed of synsets and semantic relations.
Statement Il: Synsets are sets of antonyms linked by semantic relations.

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 weror Ru sre 3 :

@erel - | : adoica RrorAg 3l aref widelt 2idell A woft wrofizr Fzaemu a1 3

@ - || : RBioRie faudlareiol @ U1 AR aid 3 Sil 1ol Adell dAdel A I3 ald &
SWRID DUl D 3HIclid 3, oill fGu a1e fdmedl 3 A A IUYTD IR DI WRIol DI :
[Question ID = 3565][Question Description = S2_qSNz_PG_LIG_Q90]

Both Statement | and Statement Il are correct/aem | 3iiz |l cleif 3t & [Option ID = 14257]

Both Statement | and Statement Il are incorrect/@erot | 3iiz 1l el sieia & [Option ID = 14258]

. Statement | is correct but Statement Il is incorrect/wemt | 3@t 8, fdsoq @erer |l siera 8 [Option ID = 14259]
Statement | is incorrect but Statement Il is correct/aerwt | s1cra 3, fdpoq @ert |1 3t & [Option ID = 14260]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are correct/werer | 3iiz 11 Sloll 21 & [Option ID = 14257]

Topic:- 31Lingu_B



1) Read the given passage and answer the questions that follow

The fact remains, however, that there is a difference between biological and logical priority. As we know, language has to a
very high degree the property of medium-transferability. In the normal course of events, children acquire a command of
the spoken language naturally (i.e. by the virtue of their biological endowment and without special training), whereas
reading and writing are special skills in which children are given special instruction based upon their prior knowledge of a
spoken language. Nevertheless, not only children, but also adults, can learn to read and write without excessive difficulty;
and it is quite possible, though unusual, to learn a written language without having a prior command of the associated
spoken language. It is also possible to learn gestural system of communication that are based upon either a spoken or a
written language, as are some of the systems used by the deaf and dumb. If we were to discover a society using a written
or gestural system of communication that had all the other distinguishing properties of language, but was never realized in
the spoken medium, we would surely refer to this system of communication as a language. One should not, therefore, place
too much emphasis on the biological property of speech.

forgoifciRaa srerior o1 ug 3ii U 31w gusil & 32 ¢ :

a1 A Al As 8 b Sifae siik aifdde yrefdreodr 3 side &SI 84 SIiold 3, HINT d HIEIH - iARVIRIAI @I JJurer! agd 3iferd feeiet 3 aearsil
@D ATATRI A 3 T YIDiad =4 A (Aol Sifad U A god Iftp @ M1ER U= 3R et a9 yfdigr o) #difad srar ur iférprR gra @2 od
3, s/fep ugel - ferdon a9y wlorer 3 Rl acdl @l AHiRae srur 3 Io1d gd Srel D eR R fA9 3ol &= St 3 fib2 sft of daer s
gfcs a1 M fdon siferd ofdons @ ugon - e Hwa Ama 3; sl Teft A6 AP 2 U obl ¢ dd Jwd 3 &b Adfia #dAilRas smor usa
21 3if2rpR o dlol R o ferRaa simur Hi=dl ot srpddl 3 a5 91 2ivra 3 b g - SRRRI SRI YRIIeT 6l Sirel arcl @ uglerIl & avs AYuvr &I
sierfagrdl ugfer il s Al 3 St fp=i FiiRam ar fRiRaa sior uz smenfya gt Afe sa bt VA FaITsT 6 FdIst B3 RBrzd AYyur & Wt
ferRaa & sistfagrdt ugfer a1 YRilet dlar 3t Sit e <6t usarer arct st spurert A Yeb 31 Uz ast #ARAD ARAA B U 3 srer fApRid o ¢ a, ar
it 331 33 AYWUT ugfer oY srar 8 B3I 3ra: e o Sifdre vt uz agd SR ol Soir anfdw

In the passage ‘It is quite possible, though unusual’ refers to
Statement | : Learning to speak before learning to write.
Statement Il : Learning gestural language after learning to speak.

In light of the above statements, choose the correct answer from the options given below

Sii<l S ool feu a1u 3 @ srEnr d "IEIft AE SRIHIG 3 UR PIbl &6 dd d 3" fip1 foifdte e 3 ?
@l - | : feren Rrael A usd dicton Hxen

@l - |l : dicton Aol @ ar6 siefagidl e ko

SWRIFD Poll D 3MIelld #, ofld 8w 31w frapedl 3 A A8l Iaz @1 wrI6t HifSte :

[Question ID = 3566][Question Description = S2_qSNz_PG_LIG_Q91]
1. Both Statement | and Statement Il are true/@em | 3i || Sloli 31T &

[Option ID = 14261]
2. Both Statement | and Statement Il are false/a@erwor | iz |l Qlall 3RIT &
[Option ID = 14262]
3. Statement | is true but Statement Il is false/@eror | 31cer &, Aifdbor deror |1 srRicr 3

[Option ID = 14263]
4. Statement | is false but Statement Il is true/emer | sricI 2, cifdpor @werat || 31t 3

[Option ID = 14264]

Correct Answer :-
® Both Statement | and Statement Il are true/ermr | 3iiz |1 Sail 31t &

[Option ID = 14261]

2) Read the given passage and answer the questions that follow

The fact remains, however, that there is a difference between biological and logical priority. As we know, language has to a
very high degree the property of medium-transferability. In the normal course of events, children acquire a command of
the spoken language naturally (i.e. by the virtue of their biological endowment and without special training), whereas
reading and writing are special skills in which children are given special instruction based upon their prior knowledge of a
spoken language. Nevertheless, not only children, but also adults, can learn to read and write without excessive difficulty;
and it is quite possible, though unusual, to learn a written language without having a prior command of the associated
spoken language. It is also possible to learn gestural system of communication that are based upon either a spoken or a
written language, as are some of the systems used by the deaf and dumb. If we were to discover a society using a written
or gestural system of communication that had all the other distinguishing properties of language, but was never realized in
the spoken medium, we would surely refer to this system of communication as a language. One should not, therefore, place
too much emphasis on the biological property of speech.



forgoiferRaa sterior ol ue 3ii= f5U 18 gesll & = 3 ¢

A I Al B 3 [ Sifdp 3l aifdse greifdiodr 3 siae 3 SIA1 84 SIield 3, HINI 3 AR - 3idRVIRIAr oI djuren! dgd sifere fdeeiet 3 acorrsil
@D ARG B I T YIpferd 4 A (Arefl Sifere a2 yed o1ftp @ snerR uz iR e fadly yfdrgor @) #HifRam »er uz SiffrpR gra @2 dd
3, SIafcs ugeln - fereol fadiy wlorer 3 RR131 <=l ol HiRam ITuT 3 o1 gd Silel @ LR UR f9IY 361e 91 fén sirar & fib2 o of daer s
gfcd a=ro 91t foen 3if2re BfdarE @ uge - ferRaen g Add 8; 3R A=t As IRIEIIRI 3 UR DIl 36 db Hd & fob Adfeia sdilRas s usa
3 ARIPIR of Blol U o ferf¥ae s Ml s Al 3 A6 9 2via 3 [ AP - 2RI GRI YT & Sirol arcil o8 UgirRIl dI ave AYuur di
sierfagrdl ugfer Ml s wxa<dl 3 St fop=it #iiRad = ferlRaa smar uz smenfya ar AfS zar b2t VA TS Y st B3 Rrrd AYwor b V2t
ferfaa = sieTfagrdt ugfer @1 giet dlar 3 Sit s bt usarer arcr 21sft spurerl A b 3 UR ast Aifawm ArAH B WU i sl el of 38 A, a
off 391 3 AYWUT Ugfer DY e & BB 3A: Ml D Sifdp IpureRf Uz Tgd SR ol Sour aifde

In the given passage, 'gestural system of communication’ refers to
Statement | : The use of gestures along with speech.
Statement Il : The use of non-verbal communication system as used by sign language users.

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 erer Ru sme 3 :

areriorn 3 ‘AYuur &t sprfasdl uger I o= arcwRt 3?7

@oerel - | ;e @ AT eIl o1 YRIeT ol

@l - |l : JAda - HrHr DI GRIST B0l dicll dl a6 IaIfid YT Bl YRIIST Bell
JURITP DYoll D 3l A, oiid f$u srw frapeul 3 A Bl IR DI WIS DifsTe ©

[Question ID = 3567][Question Description = S2_qSNz_PG_LIG_Q92]
1. Both Statement | and Statement Il are correct/aerat | 3iiz || Gleil &8 &
[Option ID = 14265]
2. Both Statement | and Statement Il are incorrect/erer | 32 || Sl s1cta 3
[Option ID = 14266]
3. Statement | is correct but Statement Il is incorrect/wmert | @t 8, fboq el |l s &

[Option ID = 14267]
4. Statement | is incorrect but Statement Il is correct/@ermr | srera 8, fpog @eret || 31t &

[Option ID = 14268]

Correct Answer :-
e Both Statement | and Statement Il are correct/aerer | iz 1l Slail 318t &
[Option ID = 14265]

3) Read the given passage and answer the questions that follow

The fact remains, however, that there is a difference between biological and logical priority. As we know, language
has to a very high degree the property of medium-transferability. In the normal course of events, children acquire a
command of the spoken language naturally (i.e. by the virtue of their biological endowment and without special
training), whereas reading and writing are special skills in which children are given special instruction based upon their
prior knowledge of a spoken language. Nevertheless, not only children, but also adults, can learn to read and write
without excessive difficulty; and it is quite possible, though unusual, to learn a written language without having a
prior command of the associated spoken language. It is also possible to learn gestural system of communication that are
based upon either a spoken or a written language, as are some of the systems used by the deaf and dumb. If we were
to discover a society using a written or gestural system of communication that had all the other distinguishing
properties of language, but was never realized in the spoken medium, we would surely refer to this system of
communication as a language. One should not, therefore, place too much emphasis on the biological property of
speech.

forgoiferRaa sterior o ug i fSu 1w gesil & IR 3 -

a1 A dl Az 3 b Sifa siiz aifdde grefdredr 3 3ide & SI1 84 Slield &, HINI 3 AERMH - iaRvilrar ol spuierst dgd sifére fdemeet 3
HeolI3il @ AR BA A acd Yrapfard wu A (Al Sifer »u A ygda o1ftp @ snenr R 31z foen fadw gfdrgor @) Hikas simar uz sif2rer
I @ oid 3, SIafce ugell - ferden fady wlore 3 SR wrel @I dilRam s 3 3oid> yd Siiel @ sneR U fa9y sropder fe=n sirar 3 e
1t o dacr g afcd RR® 91t fYom 3iferd BISens & ugen - ferac Wa FADBA T; 3k A2 A RATATRT & U= Brbl &6 dd I 3 fb
JAdfera AiRae s usd A SR o dlol UR o fe1Raa simur A=l s AAwdl 3 w6 ot 2iva 3 1 g - aifRI gRI YRIIET & Sirel arcll oo
ugferl & ave AYuur &f seifasdl ugfer Hidl s sl 3 it f[p=il AiRaw & feilfaa smor U= smenfea a1 Al za gt U1 3= Hf
st @2 ORI AYyUT & Bl feilkaa A seifasidl ughr oI gRIeT Sldr a1 Sil 11l I Usdrel darcl Wil [uIerdl A Jeb 8l UR dal AllkRad
ATERHA D U i 9o BRI of g€ 3, a ot a1 331 AYWUT UG B 9rar 8t w331 31eT: e o Sifaas JpuIent ur agd SR oidl Solt aifdw



In the passage 'medium - transferability 'refers to

A. the transfer of content from one written language into that of another written language.

B. the transfer of content from the spoken form to the written form of the same language.

C. the transfer of content from the spoken form of one language into the spoken form of another language.
D. the transfer of content from written form to the spoken form of the same language.

Choose the most appropriate answer from the options given below

SIENor 3 'HIEA - iarviRIar A o= arcu=t 3 ?

A. pit ferlRaa s &t e @1 g3l feiffad srar 3 siarur

B. siror @ diRawm wu A 3T sirar @ ferlRaa u 3 ARG @1 3iaRur

C. fp=il smor @ JHiRam U A IR srer @ JAiRa® wu I freRIarq @1 3idaeor
D. fp=it smrem @ ferRaa ou A 3= sren @ FHiRaw »u A fsRasq @1 3iaRuT
ofla fou s1e feseul 3 A JGRA IUYTP IR DI WRIaT HifSte :

[Question ID = 3568][Question Description = S2_qSNz_PG_LIG_Q93]
1. Aand C only/dacr A iz C

[Option ID = 14269]

2. B and D only/d@act B 3iiz D
[Option ID = 14270]

3. Aand B only/daet A iz B

[Option ID = 14271]
4. Cand D only/@aet C sfiz D

[Option ID = 14272]

Correct Answer :-
e Aand C only/@aa A siz C

[Option ID = 14269]

4)

Read the given passage and answer the questions that follow

The fact remains, however, that there is a difference between biological and logical priority. As we know, language has to a
very high degree the property of medium-transferability. In the normal course of events, children acquire a command of
the spoken language naturally (i.e. by the virtue of their biological endowment and without special training), whereas
reading and writing are special skills in which children are given special instruction based upon their prior knowledge of a
spoken language. Nevertheless, not only children, but also adults, can learn to read and write without excessive difficulty;
and it is quite possible, though unusual, to learn a written language without having a prior command of the associated
spoken language. It is also possible to learn gestural system of communication that are based upon either a spoken or a
written language, as are some of the systems used by the deaf and dumb. If we were to discover a society using a written
or gestural system of communication that had all the other distinguishing properties of language, but was never realized in
the spoken medium, we would surely refer to this system of communication as a language. One should not, therefore, place
too much emphasis on the biological property of speech.

forgaifeiRaa srerior oI ug 3ii= S a0 gesll D 3az ¢ &

1 I Al As 3 [ Sifdep Sl aifdbe greifdrar 3 siae 3 ST 891 SIield 3, HITNI 3 AR - 3idRVIRIAr I spvren! dga sifere fdepmet 3 acorsil
@D A A A T YIpferd 4 A (Arefl Sifer 4 A yed o1ftp @ sneR uz 3R e faoly yfdrgror @) #HilRaem ser uz SiffrpR g &2 ad
3, SIafds ugol - fordon fadiy wiorer 3 Rr1d a<dl @1 AliRad T 3 Sord> gd Sler @ 3MeR U= fI9N srorcer i3 sivn 3 fibe off o1 daer =
gfcs R 9l fder siferd Bfdons & ugoln - ferden Hiwa Ama 3 siiz et A6 AP & Uz bl ¢ do Fd & &b Adfea #dilkas smor usa
3 ARIPIR of Blol Uz off ferlRaa s 2Mfiwdl o sroddl 3 A 9t Jivra 3 b AP - SRl GRI YRileI & ol arcil o8 ugirIl df ave AT &f
sperfaddl ugfer Mixdl s rpedl 3 S fop=il JilRac = ferRaa srar u= smenf¥a a1 AfS s =1l VA 3= bl st B2 R AYwvr bi ¥t



ferf3aa & sistfagidl ugler w1 yRiler Bl 3l Sit sren &bl usare arcl Asfl spurerE! A Jeb 81 U asl AlRad AIA D WU A I faol¥ie o g8 8, dl
off 391 321 AYWUT Ugfer b1 e & HI31 3reA: T D SifAp IpureRf UL Tgd SR ol Sour @i

In the given passage, 'logical’ priority refers to

Statement I: the acquisition of reading and writing skills naturally.
Statement II: the acquisition of reading and writing skills through special instruction.

In light of the above statements, choose the most appropriate answer from the options given below

ofla QY averet feu s1e 3 ¢

areniorn 3 "arfsa’ yrerfdrasar I @R arcuRt 3 ?

@ - | : grpfere wu A uer - Rrard & Bl YA w3l
@l - || : fI9 3siggfer & gRI uGrs - feraré & wlord Yra doll
SUfeD Deril B st 3 ProifiRad Riacdt 3 A 318 = got

[Question ID = 3569][Question Description = S2_qSNz_PG_LIG_Q94]
1. Both Statement | and Statement Il are correct/wmeret | 3iiz |1 Seil 21t &
[Option ID = 14273]
2. Both Statement | and Statement Il are incorrect/erer | 32 || Sl rcta 3
[Option ID = 14274]
3. Statement | is correct but Statement Il is incorrect/memt | 31 8, fpoq del | s

[Option ID = 14275]
4. Statement | is incorrect but Statement Il is correct/@emt | sri 8, fopog werer | a8t &

[Option ID = 14276]

Correct Answer :-
e Both Statement | and Statement Il are correct/aerer | 3iiz || Sloil & &
[Option ID = 14273]

Read the given passage and answer the questions that follow

The fact remains, however, that there is a difference between biological and logical priority. As we know, language
has to a very high degree the property of medium-transferability. In the normal course of events, children acquire a
command of the spoken language naturally (i.e. by the virtue of their biological endowment and without special
training), whereas reading and writing are special skills in which children are given special instruction based upon their
prior knowledge of a spoken language. Nevertheless, not only children, but also adults, can learn to read and write
without excessive difficulty; and it is quite possible, though unusual, to learn a written language without having a
prior command of the associated spoken language. It is also possible to learn gestural system of communication that are
based upon either a spoken or a written language, as are some of the systems used by the deaf and dumb. If we were
to discover a society using a written or gestural system of communication that had all the other distinguishing
properties of language, but was never realized in the spoken medium, we would surely refer to this system of
communication as a language. One should not, therefore, place too much emphasis on the biological property of
speech.

forgatfeiRae srerior ol ug 3iiz f3u a1w gesll d 3az ¢ ¢

a1 A dl Az 3 b Sifae siiz aifdde grefdredr 3 side 3 SI1 84 Slleld &, HINI 3 AIEMH - iaRviliar ol spuierst dgd sifére fdemeet 3
HeolI3il @ ARG BA A acd Yrapfard wu A (Areh Sifer »u A ygda g1ftp @ snenr R 3iiR foen fad gfdrgor @) Hikas simar vz sif2rer
I @2 oid 3, SIafce ugell - ferden fady wioret 3 SR wrel @l dilRam s 3 3oid> yd Siiel @ sneR U fa91y sropdor fon sirar 3 e
1t o dacr g afcd wRRD 91t fYom 3iferp BfSens & ugen - feractr Wa FADBA T; 3k A2 A RATATRT & U= Brbl & dod I 3 fb
JAdfera AiRae sdr usd A SR o dlol UR o fe1Raa smur A=l s AAwdl 3 w6 8t 2iva 3 1 g - aifRI gRI YRIIET & Sirel arcll @
ugferl & ave AYwur &f sEifagdl ugler Hidl s sl 8 it f[p=il AiRawm & feilfaa smor U= smenfea a1 Al za gt U1 et &f
st @2 ORI AYYUT &I WAl feilkaa A seifasgidl ughr o1 gRIeT Sldr a1 Sil 11l I Usdrel darcl Wil [uIerl A Jeb 8l UR dal AllkRad
ATERA D U i e FApRIa of g€ a1, a ot 391 331 AYWUT UG B 4rar 8l w331 31eT: ST o Sifaas JpuIent uR 9gd SR oidl Solr aifdw

In the given passage, 'biological’ priority refers to
Statement | : the acquisition of spoken language due to its biological endowment.

Statement Il : the acquisition of spoken language with special training.



In light of the above statements, choose the most appropriate answer from the options given below

ofi<r <1 werer G o1 3 :

areniorn 3 'Sifa’ grerfirsdr A ar= arcwrt & ?

Dol - | : Sifdr U A god 9Ifth @ MR UR AlRA® HI UR 3Mf2PR I Boll
@Yol - || : fa9Y 3ro1¢er @ IURIA HiRRad HINT UR 3If[PR YIa doll

SWRIRD DAoll B 3MIclid A, ofid [Gu 31g famcdl 3 A AT IUYTD IR DI WIol DIfSIQ ©

[Question ID = 3570][Question Description = S2_qSNz_PG_LIG_Q95]
1. Both Statement | and Statement Il are correct/erer | 3iiz |1 Qreit A& &

[Option ID = 14277]
2. Both Statement | and Statement Il are incorrect/weet | 3ii2 || Sloil slcia &
[Option ID = 14278]
3. Statement | is correct but Statement Il is incorrect/mert | 2@t 8, fboq el |l s &

[Option ID = 14279]
4. Statement | is incorrect but Statement Il is correct/@er | srera 8, fpog weret || 31t &

[Option ID = 14280]

Correct Answer :-
e Both Statement | and Statement Il are correct/aeror | iz 1l Slail 318 &
[Option ID = 14277]

Topic:- 31Lingu_C

1)
Read the given passage and answer the questions that follow

B.F. Skinner, the best-known proponent of an extreme empiricist, behaviorist view of language acquisition, viewed the
child as a passive recipient, subjected to environmental influences. In this view, language was considered as "verbal
behavior”, and only what was observable and measurable was accepted as a means to evaluate language acquisition; no
attempt was made to hypothesize about non-perceptible mental events. Behaviorists such as Skinner explained vocabulary
comprehension through "classical conditioning”, or the pairing of a stimulus and a response. Along the same lines, productive
vocabulary is explained by "operant conditioning”.

While behaviorists highlighted the environment as the principal agent in bringing about language, a radically different view
emerged largely in reaction to that mechanistic behaviorist model. In the Universal Grammar view, the environment serves
essentially only as a trigger for language development. The UG approach views language as unique and different from other
cognitive systems. It suggests that humans possess what can be considered as a "language faculty”, i.e. a universal set of
underlying principles, called UG, which lends its name to this theoretical approach. The existence of UG allows children to
form hypotheses about language when they are exposed to a finite set of examples from their environment. In this regard,
UG linguists refer to what has been called the "logical problem of language acquisition”, i.e., that without UG, language
learning would be impossible because the input data are insufficiently rich to allow acquisition to occur; something else must
be helping the children, and that something is the proposed "Universal Grammar" they are born with as part of their genetic
endowment. This approach is therefore "Nativist's approach”, in emphasizing the biologically inherited aspect of UG.

fou 31Q areErion B UG @2 forget Yool d Az & :

TSI 3r5fel @ 31feT o - ardl, RIasrRard! eftedivr & Ffreaa gearae . ub. Ravor arcrd o1 v BHfd srefe® @ wu 3 3Fda & s ufsdor
3 Penfaa aar 3, 31 efSeplIvr #, 1 I "onfoed RIAsR” el SR 1R St Ygofi siik ufesmusiin 3 dact 3 mdr 3rsiol @ il DI ATeeT
IR f[par SR, 31 g AGIRID dcollsll d |1 3 YIadmclol Ml DI DS JARI oiél bl SR RboR 311 RIasRaIfcIl of "aenRIbi
3lofdyciol ', 3IdI IEIUD 312 oIfepT o> Yool d HIEIH A 9legIdcil dierel Ol faderoll @ 32l ast Uz forcurget 9recracil i ferdrein "fapmyIa
stogapetar’ @ g Y oIl 3

SIal AMERAISRI of I 3iofol A YeIel BR® & U 3 uf¥der Gt y4ficor uz ik [ aél su i RMasrard) disa & g gfeafdgn Fazeu
uop Hifer U A Mool efSedlvr oI Iga g3 ARG wrpvr (Y Sf) zfRedIvr & IGRIR Myl famrt d ufkaer siforaria: dacd ve ¢ &F
3ot forsirar 3 3 Sl SumeRI 3 HINT @l 316 AsielcaAd Yunferil A et siiz fafdrse A6l ST 3 $AD 3GRIR UD "HINI IDRI Bidr 3, 3rerfa
sidaféa Rigidl @ v Ardiifhe Agg, SR ot war s, siiz aét s Agifam supe ®I ofld doil Yol I sufFerfa @ BRUI s[uol ufyder d
fo1f2ae1 Ic1830T AHPE D AHUD A 3Mlol D dIG g HII Adeh ulwcusn Jfoa @

33 dAde 3, I it vran farsirell "'sraT srsfol Bl arfdd® AR Bl Achia md 3, srefd I sit @ 991k HIuT SIfPETA 3RING BPN drIife 3Iere e
Sefol fage ofél & fob 3rsiol 3l AD, DIS 3ii= <isl fo1f2ra u A gl Bl AP BIel 3, 3R ds <isl 3 YFaifad "AdHIRD Ie20T Sl IoTd
IGIdfOre IUBIR @ WU I Iold AT SlodsIld kel & 31:, Y St D Sifdre RrRIA Adell usll uz Sk ol B eftcmIvl A As IUPH "D
SuPE” 3



Based on the paragraph given, choose the correct statement.

SWRITH JIETi9I & 3MMER U= Sl BU6T DY ol :

[Question ID = 3571][Question Description = S2_qSNz_PG_LIG_Q96]
1. The Behaviorist hypothesis assumes the presence of non-perceptible mental events. /RIAsRaIc Yradcuell g AGIRID acoail I siferfer o1 Idipr drdt
3

[Option ID = 14281]
2. The Nativist hypothesis assumes the presence of non-perceptible mental events when babies acquire words from their environment. / 3modfsrm
YIdbeUoll dcdl GRI 3ol ufsder 3 9reg 3ifSfa @2ol &t gor 3t g eIk acelsil &t sufdafer o Idier wxdt

[Option ID = 14282]
3. The Nativist hypothesis suggests "operant conditioning" is the process which, helps acquire productive vocabulary. /3iojdfsid Yrameuo @ 3oRIR A
yfepem 3 'fopRnr YR siejdctol’ Bl & Sit forurgd orscract! ssfol 3t ABRID 2ldr &

[Option ID = 14283]
4. The Behaviorist hypothesis implies genetic endowments at work, to facilitate stimulus-response learning. /®asrRarct yrameuoll @ 3ORIR IGUD - 3o}
3ifEreT 3 SIToJdfdId SUSR PR BT &

[Option ID = 14284]

Correct Answer :-

e The Behaviorist hypothesis assumes the presence of non-perceptible mental events. /®asrRarct yradmcuot sijgr A6l acaail &l sifderfer at iR wadt
g

[Option ID = 14281]

2)
Read the given passage and answer the questions that follow

B.F. Skinner, the best-known proponent of an extreme empiricist, behaviorist view of language acquisition, viewed the
child as a passive recipient, subjected to environmental influences. In this view, language was considered as "verbal
behavior”, and only what was observable and measurable was accepted as a means to evaluate language acquisition; no
attempt was made to hypothesize about non-perceptible mental events. Behaviorists such as Skinner explained vocabulary
comprehension through "classical conditioning”, or the pairing of a stimulus and a response. Along the same lines, productive
vocabulary is explained by "operant conditioning”.

While behaviorists highlighted the environment as the principal agent in bringing about language, a radically different view
emerged largely in reaction to that mechanistic behaviorist model. In the Universal Grammar view, the environment serves
essentially only as a trigger for language development. The UG approach views language as unique and different from other
cognitive systems. It suggests that humans possess what can be considered as a "language faculty”, i.e. a universal set of
underlying principles, called UG, which lends its name to this theoretical approach. The existence of UG allows children to
form hypotheses about language when they are exposed to a finite set of examples from their environment. In this regard,
UG linguists refer to what has been called the "logical problem of language acquisition”, i.e., that without UG, language
learning would be impossible because the input data are insufficiently rich to allow acquisition to occur; something else must
be helping the children, and that something is the proposed “Universal Grammar" they are born with as part of their genetic
endowment. This approach is therefore "Nativist's approach”, in emphasizing the biologically inherited aspect of UG.

U 31U srErion DI UG @2 fordot Yesil @ 3z 3 -

HIYT 315fol @ 3Ifel 3rof¥d - dISl, RIAERAIS EfcDIvT @ YRR YIArdd dl. Uh. RpolR dIcid Pl Ud DIl PfIe @ 34 3 ¥ & Sl ufeder
A Pefaa Bar 3, 1 efSeIvr 3, I Dl "nfoed RMaeR” TG 3RII 31 Sl YgIuii 31k ufedrusiRkl 3 ddact I} HIHI 3rsiol @ JcAiddol DI ATeeT
FdioR fopar sRIT; 318 AGIRIDG acolsil B R 3 Yraddlol Mol BT DIS YA oidl fopal sRn  RborR S RIasrRaifcll of "aenf3rdbin
3IoIdcTol ', 31erdl IEUD 3R IIGIfepRIT D Yool D AL A 9IecIdcil dietol bl frderett @ 32l asl ur fercurcar 9rssrachl & fedaen fepgRIa
Stefeperor’ @ Gt B STt 3

SIal RATERAISRI of 1T 3sfol 3 YeITel BR® & U 3 uf¥der bt yfiwr uz Sk a1 aél s i RMasrard) disa & fgoaa: gfeafpan Faeu
up diferd ¥4 A ool efSedlvr oI Igd g3 AdHIRID =rpvr (I Sf) zfiedIvr & SoRIR T fawmr d ufkaer sifraria: ddac ve G &f
fdrent forirar 3 3 St SumTe 3 T DI 3163 AsTIolicdd Yunieril A el 3R fafdrse Aol Al 3 5D SIGRIR TP "HINI PRI Bl 3, 3refa
siafda Rigidl @1 ue ATt Mg, BRI Jsil Pal oK1, 3R Al 33 AGifId IUPHI DI o Joll IJsil i IufFefer & PRI 3ol ufeder &
forf21e1 3c182v1 M3IE D AHUD A 3ol D A6 T I Adeh ul¥ecuen Jfoma wa 3

9 HAder 3, Y Sl HuI fasirell "'HIdT srsfol Bl aIfdm AR Bl Ashia w2 8, srerid I it @ 991k HIuT SIfEPEIA 3RING BIPN qrIifd 3iIcre e
gdlol fager o8l 3 15 3rsfol 81 AD, B 3R disl forfra wu A acdl &t FsrIe Bl 3, 3R ag disr & Yzarfaa "Ardsiifde <mmor’ sit ord
IGAfOID IUBR @ WU I IJold> AT SIGIHSI BIeil 3 3Ie:, Y St D Sifdres forrIa FHdel usil U= Sk ot B eftedIvT A AT IUPHI "IMIdidD
upE” 3

Based on the given paragraph, given below are two statements, one is labelled as Assertion A and the other is labelled as



Reason R

Assertion A : "Logical problem of language acquisition” means that without UG, language learning would be impossible unless
there is UG as part of their genetic endowment.

Reason R : The existence of UG allows children to form hypotheses about language when they are exposed to language
examples from their environment.

In light of the above statements, choose the most appropriate answer from the options given below

ofid <1 werot fSu a1 3 ;. uop sifdrperct (A) & wu 3 fiRaa 3 @ g1 3ud @Rl (R) & »a 3 ¢

feu 31U sTerior o SMTEIR UR -

siffreperst (A) @ "'srr srslor bl aifdbe e @I s3ref 3 b PR Ioll Io1d IMIeIdidId IUBR @I HPI o1dl Bl dl I Sl D S91k HIuT I SRiNd
gem

@rur (R) : 3100l Uf¥d9r A HINI 3S18VIl @ AU 3 3MTol D &I Y 51l DI IufFefer @ DRUT < HIdT el ufsmeuon Jira o= &
SWRID Dol @ 3MIelld #, ofid 16T 31w faedl 3 3 A IuPeD IR DI TWIol DI ©

[Question ID = 3572][Question Description = S2_qSNz_PG_LIG_Q97]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) grail 21t & 3l (R), (A) &t 3 wmen 8

[Option ID = 14285]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3z (R) clail 38t 3 woq (R), (A) 6t 3 wR=n ot &
[Option ID = 14286]

3. Ais correct but R is not correct/(A) & 2 wog (R) 3t ot 3

[Option ID = 14287]
4. A‘is not correct but R is correct/(A) 3@t st 8 weog (R) &t 2

[Option ID = 14288]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3@t 2 3z (R), (A) &t 3 areen
[Option ID = 14285]

3)
Read the given passage and answer the questions that follow

B.F. Skinner, the best-known proponent of an extreme empiricist, behaviorist view of language acquisition, viewed the
child as a passive recipient, subjected to environmental influences. In this view, language was considered as "verbal
behavior”, and only what was observable and measurable was accepted as a means to evaluate language acquisition; no
attempt was made to hypothesize about non-perceptible mental events. Behaviorists such as Skinner explained vocabulary
comprehension through “classical conditioning”, or the pairing of a stimulus and a response. Along the same lines, productive
vocabulary is explained by “"operant conditioning”.

While behaviorists highlighted the environment as the principal agent in bringing about language, a radically different view
emerged largely in reaction to that mechanistic behaviorist model. In the Universal Grammar view, the environment serves
essentially only as a trigger for language development. The UG approach views language as unique and different from other
cognitive systems. It suggests that humans possess what can be considered as a "language faculty”, i.e. a universal set of
underlying principles, called UG, which lends its name to this theoretical approach. The existence of UG allows children to
form hypotheses about language when they are exposed to a finite set of examples from their environment. In this regard,
UG linguists refer to what has been called the "logical problem of language acquisition”, i.e., that without UG, language
learning would be impossible because the input data are insufficiently rich to allow acquisition to occur; something else must
be helping the children, and that something is the proposed "Universal Grammar" they are born with as part of their genetic
endowment. This approach is therefore "Nativist's approach”, in emphasizing the biologically inherited aspect of UG.

feu s1u srErior @t uG @2 fordol Yl & Ia S &

THI 3STol @ 3ifeT 3o - aIdl, RIABRAIS! eftcdIvl @ AfeR=Ia gdra® dl. vw. RworR dlcie @l ud Bl sipfed o U 3 S@d 3 sl uf¥ar
A yefea 2l 3, 31 efSepivr #, a1 ol "onfece RMasR” Alel srH 3ii= Sl Yerofi 3k ulkamusiir 3 dact 31 1 3rsiel & Jcaicvol DI ATeIoT
iR b sRIT; 318 AGIRTD acolsil D aR 3 Yraddlol ol DI DS YRR oldl fohal srRn RboRk S RIasRaifcll of "aenf3rdhiRa
3IoldeTol ', 3ferdl JEIUD 313 SIofepRT B YodHol D AL A 9lecIdcil dietol bl ferderelr @ 3l asl ur fercurcor orssracti &I ferdaon fepagRIa
3roIetol B HRI b St 3

SI61 RIGBRAICII of HIYT 3r5fol 3 YeITol PRMP @ WU A ufed9r &bl YT uR SR G adl 331 Aife caasrard dAisca @ Foaa: gfefaRn Faea
uep difcies U A ool zfSemlvr oT 3ga g3 ATdHIfRIe caravr (Y Sf) zfieamIv & IgRIR T fawmrT 3 ufraer siforaria: ddaed ve or &t
31f3rep1 forerrar 3 3 Sl SUPRI 3 TSI DI 316 Jsielcad Yunferdl A fireat 3iiz fafdrse Arel ST 3 331 3GRIR UPH "HIWI DRI 3IdI 3, 3rafa
siafda Rigidl o v Ardiifies aae, BRI Jeit et sk, 3iiz a8 s Agiftrn Sur oI ol Joir Jsit & JufFefer & orur suor ufyder &



fo1f21e1 3515201 HgPE D AU A 3ol D §Ic Ted Ao Adeh uf¥dcuon Jiora dad &

33 JAder 3, J Sit smun fersirefl "'sren srsfor b arfb® =" ol Achia mad 3, srafa 3 st @& 991 simun siffETA 3RiNG BPN TRIife 3iere ifdiea
scfol fager o1dl 3 fop srslol 8l AD, @I 3= <is forfia wu A sl &I FsrIP Bkl 3, 3R a6 disr & grarfaa "Ardsifde =mmor” it Jerd
IGIAfOID JUBRR @ WU I IoId AT SlodsIld kil & 31, Y St D Sifare frRIa Adel usil uz Sk Sof D eftcmIvT A A IuPE didrs
SupH” 3

Based on the given paragraph, given below are two statements

Statement | : Behaviorism considers language as Verbal Behavior acquired through what is referred to as “classical
conditioning”.

Statement Il : Stimulus-Response pairing as in “classical conditioning hypothesis” presumes that there are non-perceptible
mental events at work.

In light of the above statements, choose the correct answer from the options given below

offa < Dol fdu sre 3 ¢

féu 1u srErier @ SMER UR -

Dol - | : IaeRAIC 3 HIYI DI INfecd RIAER ATGH ST 3 SR "aenRIbI srofaetol’ @ HIEIH A 3ifSia fopan sirar 3

Dol - || : "qenRbRI 3io]dyciel Yradmeyell 3 SEIUD - IR Yool 3 A ATl SIIAI 3 &b Y AIGIRID acolR] ®rigfie Biddl
JWRITD DIl D IATellD 3, ofd fou s1u fRipedl 3 A AT IUYTD IR DI Rl HIFT :

[Question ID = 3573][Question Description = S2_qSNz_PG_LIG_Q98]
1. Both Statement | and Statement Il are true/erar | 3ii2 || Sleil cer &

[Option ID = 14289]
2. Both Statement | and Statement Il are false/@ermr | siiz || Siail sricT &
[Option ID = 14290]
3. Statement | is true but Statement Il is false/@ermr | 311 8, fpog werer || spRicT &

[Option ID = 14291]
4. Statement | is false but Statement Il is true/aemert | 3R1a 8, fdbog et |1 e 8

[Option ID = 14292]

Correct Answer :-
e Both Statement | and Statement Il are true/@memer | 3iiz |1 ol Jer 3

[Option ID = 14289]

4)
Read the given passage and answer the questions that follow

B.F. Skinner, the best-known proponent of an extreme empiricist, behaviorist view of language acquisition, viewed the
child as a passive recipient, subjected to environmental influences. In this view, language was considered as "verbal
behavior”, and only what was observable and measurable was accepted as a means to evaluate language acquisition; no
attempt was made to hypothesize about non-perceptible mental events. Behaviorists such as Skinner explained vocabulary
comprehension through “classical conditioning”, or the pairing of a stimulus and a response. Along the same lines, productive
vocabulary is explained by “operant conditioning”.

While behaviorists highlighted the environment as the principal agent in bringing about language, a radically different view
emerged largely in reaction to that mechanistic behaviorist model. In the Universal Grammar view, the environment serves
essentially only as a trigger for language development. The UG approach views language as unique and different from other
cognitive systems. It suggests that humans possess what can be considered as a "language faculty”, i.e. a universal set of
underlying principles, called UG, which lends its name to this theoretical approach. The existence of UG allows children to
form hypotheses about language when they are exposed to a finite set of examples from their environment. In this regard,
UG linguists refer to what has been called the "logical problem of language acquisition”, i.e., that without UG, language
learning would be impossible because the input data are insufficiently rich to allow acquisition to occur; something else must
be helping the children, and that something is the proposed "Universal Grammar" they are born with as part of their genetic
endowment. This approach is therefore "Nativist's approach”, in emphasizing the biologically inherited aspect of UG.

feu s1u srErior @t uG @2 fordol Yl B Az S &

TSI 3fSTol @ 3T 3o - dIdl, RIABRAIS! eftcdIvl @ YR geara® dl. vp. Rwor dlcie &l Ud Bl spfed @ U 3 SFd 3 sl uf¥ar
A yerfea 2l 3, 31 efSepivr #, a1 ol "onfece RasR” ATl SR 3ii= Sl Ygrofia i ulkausiir 3 dact 31 1 3rsiel & Jcaicvol DI ATeIoT
FdipR BT SRIT; 38T AGIRID acolsil @ aR 3 Yradclol ol BI DIS YR oldl o5l SRl RaboR S RIasRarfeIl of "aenfRrdhiRa
3IoIdeTol ', 3ferdl IEUD 31 Mo B JodHol D AL A 9recIdcil dietol bl frdrrett @ 3l asl ur forcurcor orssractl &I ferdeen fepmgRIa



srogyctol’ @ R Bt St 3
SIal RAGERAISI of 1T 3isfol 3 YeIel BR® & wU 3 uf¥dor &bt yfier uz Sk a1 7l s i Rasrardt disa & Fgoaa: gfafpan raea

up diferd ¥4 A ool efSedIvl oI Igd g3 AMHIRID =rpvr (I Sf) zfiedIvr & SRR Ml fawmrT d ufkaer sifsraria: ddae ve G &F
fdrenT forrar 3 I S U 3 HINT DI 316 ASTIollcdAD YUIIicrl A ool 3iiR fafdrse Aol Sl & 5D SIGRIR U "HINI APRI Bl 3, 3reIia
siafda Rrgidl o1 ves andsiifdres 31, BRI Yol war sk, AR A&l 531 IAgifre Suener oI o dont Yoit bl Juf¥efer & BRI 3ol ufder &

o121 3c18v1 M3YE D AHUD A 3MIol D A6 T 1l Adeh ul¥ecgen Jfoma wa 3

539 Ader 3, Y Sl HrI fasiroll "'HIdr srsfol bl dIfddm A" Bl Ashia i 3, srerid Y sl @ 991k HIuI SIfEPETA RN BIoN qRIifd 3irerel e
sdlol farger o1dl 3 fop 3rstol 81 AD, B 3R diel forfra wu A acdl &t FsrIe Kl 3, 3R a6 disr & Yrarfia "Ardsiifde <nmor” sit Jord
SMTGIAfD IUBR @ WU 3 IoId ATl STodeld Bl 3 3, I St D Sifd farrIa Hdelt usll ur Sk Sof & efiedIvr A As JUPTH "IATGddrD
upHE” 3

Behaviorism implies

A. The child/learner is a passive recipient of environmental influences.

B. An empiricist view of language and language acquisition

C. Stimulus-response hypothesis of acquisition

D. Productive vocabulary is explained by operant conditioning in Universal Grammar.
E. Imitation is part of the behaviorist empirical learning.

Choose the correct answer from the options given below:

RIqeRdIc @I foifaaref 3 :

A. arcres / siffeRrasal uf¥desa gerrdl a1 w4fdr siefied alar &

B. sirur 3iiz simur 3rsfer @t stepaardt efScaior

C. 3rsfor &f IEU® - 3EIfpAT gradouet

D. rdsiifdrn cra=ur 3 forcurcam grssractt i fardaotn R YRIa sieldetol GRI &f Siiedl 8
E. srojmfer caasrardt siopuadict sifeeren w1 sieT 8

il fou s1u frapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 3574][Question Description = S2_qSNz_PG_LIG_Q99]
1. A, Cand D only/a@aa A, C, D
[Option ID = 14293]
2. C,DandEonly/aaa C, D, E
[Option ID = 14294]
3. A, Band Conly/dac A, B, C

[Option ID = 14295]
4. A, B, DandE only/dact A, B, D, E

[Option ID = 14296]

Correct Answer :-
e A, CandDonly/dact A, C, D
[Option ID = 14293]

5) Read the given passage and answer the questions that follow

B.F. Skinner, the best-known proponent of an extreme empiricist, behaviorist view of language acquisition, viewed the
child as a passive recipient, subjected to environmental influences. In this view, language was considered as "verbal
behavior”, and only what was observable and measurable was accepted as a means to evaluate language acquisition; no
attempt was made to hypothesize about non-perceptible mental events. Behaviorists such as Skinner explained vocabulary
comprehension through “classical conditioning”, or the pairing of a stimulus and a response. Along the same lines, productive
vocabulary is explained by “"operant conditioning”.

While behaviorists highlighted the environment as the principal agent in bringing about language, a radically different view
emerged largely in reaction to that mechanistic behaviorist model. In the Universal Grammar view, the environment serves
essentially only as a trigger for language development. The UG approach views language as unique and different from other
cognitive systems. It suggests that humans possess what can be considered as a "language faculty”, i.e. a universal set of
underlying principles, called UG, which lends its name to this theoretical approach. The existence of UG allows children to
form hypotheses about language when they are exposed to a finite set of examples from their environment. In this regard,
UG linguists refer to what has been called the "logical problem of language acquisition”, i.e., that without UG, language
learning would be impossible because the input data are insufficiently rich to allow acquisition to occur; something else must
be helping the children, and that something is the proposed "Universal Grammar" they are born with as part of their genetic
endowment. This approach is therefore "Nativist's approach”, in emphasizing the biologically inherited aspect of UG.



fou 31u rEri9r WY UG B2 ot yooll B IR T ¢

TSI 3rSfol & 31feT 3o - ardl, RIasrRard eftedivr & s gedaras &l uw. Rasor arcrd o1 v BHfd siefed & wa i Sa 8 st ufsdor
A yeifea 3l 3, 31 eftemlvr d, He1 @l "onfecd RIasR” AlGH SR 3R Sl Ygrofl 3k ulsamusilr 3 dact 31 I 36l @ JcIicvol DI ATeoT
iR fopar SR 3 g AGIRID acollsil @ a1 3 Yradmcliol Ml DI DIS JARI oidl fohl SR RboR Sl RIasRaIfcIl of "aenRrdb
3IoIeTol ', 31l IEUD 3R IIGIfRRT D Yol B AL A 9IecIdcil dierol bl frdaett @ =it asl ur forsurca grssracht & fdaen feprgRIa
3MoIDetol’ D HRI &t oIl 3

SI6T IGERAISRIN o HIHT 3iStol 3 Yellol PRM® @ U 3 uf¥der &l 9T uz Sk ar adl 331 it aasrard! sdisa @ JRead: giifipn Faeu

uep Hifcras U A ool efScdlvr of Iga g3 ATdifdIe wravr (Y Sf) zfRedmIvr & IIGRIR Hrur fapr 3 ufraer siforaria: ddae ve o &t
1f3rop1 forsirar 3 3 Sl SuPRI 3 TSI Dl 316 Jselcdd Yunferdl A fireet sii fafdrse M6l ST 3 3D 3GRIR U "HINI IDRI Bl 3, i
siaféa Rigidal T v Ardiifie s, BRI J6it el orm, sii a8 53 Agiftre SuPnE ©I o doil Jsht & JufFefer & SR suor afyder @

forfaa 3c1E2v1 Age o AHUD & Il D dIc dca Hren Haielh uf¥meusir Jiora wa &

33 dAder 3, I it smur fersirefl "'sren srsfor bl arfdbe =" ol Jdchia mad 3, srafa 3 it @ 991 sirur SiffETA 3RING JPN TRl 3iere iftiea
sclol fayet o8l 8 fop srsiol 8l AD, DI 3R <iS fo1faa WU A sl &I FsrIP Bl 3, 3R a6 it 3 gralfaa "Ardsifde =mmor” it Jord
3MIGIAIOID SUBR @ WU I IoId AT SIS Blcil & 3IeA:, I S D Sifde RRRIA Adell ugll uR SR ol B ftcmIvl A As IUBRHH I
SuPE” 3

The 'Nativist' view implies

A. Vocabulary comprehension and acquisition takes place through a process called “classical conditioning”.

B. The environment serves essentially as a trigger for language development.

C. Human beings possess what is called "language faculty"” that plays a significant role in language acquisition.
D. 'Operant conditioning' is a process that helps acquire productive vocabulary.

Choose the most appropriate answer from the options given below:

'311eIdfdres’ efdeaplur o1 forfdaref 3 :

A. orscracht dieret, srsfor "aenf3IbR sigfayctor” &t yfpr @ ameEr A dar 3

B. sirar fareT o forg uf¥aer siforaria: v Rere @1 oRI wzar

C. A=l & URI "HIYI ADRI" Bl 3 Sl HIYI 35iol 3 v sAscaygul syfdrt foremrar 3

D. 'Rpamyzid sreldclol’ U Y2 yfepen 3 Sit forcurces orecractt @ srsfor 3 WRIB 3Kl 3
ofi o s1u faseal & A A8 IR BT <RIl BT :

[Question ID = 3575][Question Description = S2_qSNz_PG_LIG_Q100]
1. Band C only/@acr B siiz C

[Option ID = 14297]
2. A, Band D only/dqe A, B stk D

[Option ID = 14298]
3. B, Cand D only/@aet B, C 3iie D

[Option ID = 14299]
4. A, B, CandD/A, B, C aie D

[Option ID = 14300]
Correct Answer :-
e Band Conly/addae B sz C
[Option ID = 14297]

Topic:- GP_20NOV_A_SH2

1)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3




C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 fSu o1 sifds] B smemR uz Yooll & IR SifSe ¢

forraiferRaa aroft et fraferenert 3 srerer - srerT foreril 3 (U-uw) BRI srearu] @1 gferord dcel 3R sreATud] der sieArfireIaii & sourd
@l yFdd ol 3 [rafdencrn 3 et sreamaml &l e 1600 3 ArRvil 3 R oR) 3ifds! @ R R Yool 1-5 ab D3I S &

31EAUD] DI fARIAR dcal :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerr areemuast Bt gfereraarn (% )preamad 3iiz stemnftapisii bl gferoraar
A
B
c
D
E
F

Total number of teachers in Subject-C is approximately what percent of the total number of female teachers in Subject-D
and Subject-A together?

fererr-C 3 sreamaedl b apet A, faeR-D sz fawRr-A d Afdafera su A sreanfUoeisii &I aget e @1 gfererd 3 ?

[Question ID = 3626][Question Description = S2_qSNz_PG_GP4_Q01]
1. 58

[Option ID = 14501]
2. 43

[Option ID = 14502]
3. 47

[Option ID = 14503]
4. 51

[Option ID = 14504]
Correct Answer :-
e 58

[Option ID = 14501]

2)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

Arvil 3 fSu o1 sifds] & memR uz Yosll & Iar SifSoe ¢

forrarferRaa zoft et fraferenert 3 srerer - srerT foreril 3 (U-uw) BRI srearu! @1 gfererd deet 3R sreArudd] e sieArfireaii & sfourd
@l YFdd ol 3 [rafdencrn 3 et sreamaml &I e 1600 3 ARl 3 R oR) 3ifds! @ R R Yool 1-5 b D IR S &

31eAUD] DI fARIAR dcal :

frerer [sreemuast Bt gfereraarn (% e 3iiz stenftapiaii bl gferoradar
A 13% 1:7
B 18% 5:3




c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the difference between the total number of teachers in Subject-F and the total number of male teachers in
Subject-A and Subject-B together?

fererr-F 3 et sremuepl &bl e Siik faerr-A den fRrerr-B 3 Afdafera su A sreamawl &l den @ dka Rodetr siar 3 ?

[Question ID = 3627][Question Description = S2_qSNz_PG_GP4_Q02]
1. 192

[Option ID = 14505]
2. 182

[Option ID = 14506]
3. 146

[Option ID = 14507]
4. 136

[Option ID = 14508]
Correct Answer :-
e 192

[Option ID = 14505]

3)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
C 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

arufl d fSu s1u sifdst @ sneR U gesll @ 3a= difsme @

forsaiferRaa areufl fip=il firafderncrn 3 eI - eI faerll 3 (T-uw) DRz sreaawm] T Yferord ol 3R eIl del eATfiIsil @ iourd
@I ydqd @il 8 faeafiener 3 @e sreamaml of A 1600 & ARvil # 621 3R sifos! @ MR R Yool 1-5 dd D IR S :

31eATUD] DI fARIaR deat :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

Rrerr areemuasi B gfererdar (% )siezmuds iz sl b gferoraan
A
B
C
D
E
F

What is the difference between the number of female teachers in Subject-F and the number of male teachers in Subject-
c?

farerr-F 31 sreanftrastsii b Jzean siir fawrer-C 3 sieamaat &bl Jizen @ dfa fasden siaz 3 ?

[Question ID = 3628][Question Description = S2_qSNz_PG_GP4_Q03]
1. 156



[Option ID = 14509]
2. 160

[Option ID = 14510]
3. 150

[Option ID = 14511]
4. 153

[Option ID = 14512]
Correct Answer :-
e 156

[Option ID = 14509]

4)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a
university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ARvuil # fSu 31U sifds] @ MER U gosll @ 3= difsme @

forgoiferRaa vl fdp=il Rreafderern 3 st - 31l f[erll 3 (T-uh) DRI reAra™] oI YieIord scol 3R EATUd] daT eATTUIDI3i @ rolurd
@l yrgd ol 3 [rafdrencrn 3 et sreamam! &I e 1600 3 Arvil 3 R oR) sifos! @ R R Yool 1-5 o D 3w S ¢

31EATUD] DI fARIAR dcal :

frerr [areemuast B gferoraar (% )sremuds 3ii sre=nfirpsii bt yferoraar
A 13% 1:7
B 18% 5:3
c 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

What is the total number of male teachers in the University?

fereafdencrr # sreamuel & e e fpdoft 3 ?

[Question ID = 3629][Question Description = S2_qSNz_PG_GP4_Q04]
1. 696

[Option ID = 14513]
2. 702

[Option ID = 14514]
3. 712

[Option ID = 14515]
4. 668

[Option ID = 14516]
Correct Answer :-
e 696

[Option ID = 14513]

5)

The given table presents the percentage distribution of teachers and ratio of male to female teachers working in a



university in six different subjects (A-F). There is a total number of 1600 teachers in the University. Based on the data in
the table, answer the questions that follow

Subject-wise Distribution of Teachers

Subjects |Percentage (%) of TeachersRatio of Male to Female Teachers|
A 13% 1:7
B 18% 5:3
(o 12% 1:3
D 21% 3:4
E 14% 9:5
F 22% 7:9

ARl 3 fSu o1 3ifds] & memR uz Yooll & Iar SIS :

forraiferRaa zoft fep=1t fraferenert 3 sreret - 3rerT foreril 3 (U-uw) BRI srearues! @1 Yferord deet 3R sreATued] e sieArfireIaii & sfourd
@l yFgd ol 3 [rafdencrr 3 et sreamam! &I e 1600 3 Arvil 3 R oR) ifds! @ R R Yool 1-5 b D3R S &

31EATUD] DI fARIAR dcal :

13% 1:7
18% 5:3
12% 1:3
21% 3:4
14% 9:5
22% 7:9

frerr sreemuast Bt gfereraadn (% )preamad siiz stenftapisii bl gferoraar
A
B
c
D
E
F

Which is the ratio of the number of female teachers in Subject-E to the number of male teachers in Subject-D?

farerRr-E 31 sremftreptsii ol Jize @ gferora ot siolurd farerr-D 3 sremapl bt v o1 fobdet 3 ?

[Question ID = 3630][Question Description = S2_qSNz_PG_GP4_Q05]
1. 2:9

[Option ID = 14518]
2.3:7

[Option ID = 14519]
3.5:3

[Option ID = 14520]
4.5:9

[Option ID = 14517]
Correct Answer :-
e 5:9

[Option ID = 14517]

Topic:- GP_20NOV_B_SH2

1) The variability or flexibility of delivery during the presentation of a lesson by a teacher is called as

U IERMUDB HRI UIS D Ydedlpul & Sikrel Ydfer & ufaderefierar sterar sie=rar oot fp=1 su 3 Siren strar 3 ?

[Question ID = 3631][Question Description = S2_qSNz_PG_GP4_Q06]
Thinking curriculum/fRidoer urgeraa [Option ID = 14521]

Instructional variety/slifaifere fafeerar [Option ID = 14522]

Comprehension /st [Option ID = 14523]

Procedural knowledge/yfdgziicaias siror [Option ID = 14524]

AW N =

Correct Answer :-

® Thinking curriculum/Rider urgerasr [Option ID = 14521]

2) Ministry of Education, Government of India's, SWAYAM platform for offering MOOCs has how many quadrants for
designing courses?



R IRDR D 181 FAJIerRT gRI Fanferd wa.siLall. . (MOOCs) ygret @0l 3q =i (SWAYAM) sia @& =i @I Jotrol (RBsimsfoien) @ fere
fepetol <Igele 3 ?

[Question ID = 3632][Question Description = S2_qSNz_PG_GP4_Q07]
1. 2 Quadrants/2 agefe [Option ID = 14525]
2. 4 Quadrants/4 aqgefe [Option ID = 14526]
3. 6 Quadrants/6 agefa [Option ID = 14527]
4. 8 Quadrants/8 agefe [Option ID = 14528]

Correct Answer :-
e 2 Quadrants/2 aqefe [Option ID = 14525]

3) Given below are two statements
Statement I: All components of working memory are in place by the age of 4 in a child as a development stage

Statement Il: If a child does not continue to pay attention to information, the activation level weakens and finally drops so
low that the information cannot be reactivated and it disappears altogether

In light of the above statements, choose the most appropriate answer from the options given below

il St weret fdu e 3 ¢
Del - | : faoRT bl srazen @ U A 4 ad bl 39 D arerd A fapmofie i & Wil acd U6l FATe U= 3id 3

@l - || : Faetsii & gfer Al o dIeid cPIAR &AT6T o18] Sdl, Al IcYIUT IR DISIR Il & 3R 3lod 3 ol PR Sirar 8 & e @I gor:
IcYf¥e o1dl fpa S AAwan iz As Yuisrya A fagy 3t siar 3

IWRID Bl d el 3, il fSu sre fRrvedl 3 A A8} IR DI wRIet HIfde :
[Question ID = 3633][Question Description = S2_qSNz_PG_GP4_Q08]

Both Statement | and Statement Il are correct/eret | 3iiz || Sloil 31t & [Option ID = 14529]

Both Statement | and Statement Il are incorrect/@erwer | iz 1l Glali sieta & [Option ID = 14530]

Statement | is correct but Statement Il is incorrect/aerwer | 3t 8, fépoq et |l sicta & [Option ID = 14531]
Statement | is incorrect but Statement Il is correct/@emt | sre &, fpoq e |l 3@t & [Option ID = 14532]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are correct/werer | 3iiz 11 Sloll 21& & [Option ID = 14529]

4) Match List | with List Il

Neural system of BrainType of Memory

A. Conscious I. Implicit Memory
B. Unconscious Il. Procedural Memory|
C. Motor skills Ill. Explicit Memory

D. Own experiences |[IV. Episodic Memory
Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rt -1 et -l

(e 1 Sepfor Heieht dey) (gt gor)

A. aeTer I, siafoifdea Fgfer
B. srleot 1. orifaftre Fgfer
C. Oofir wiorer (die: Ravezr) Il. Joaep Fqfer
D. sicamopa IV. JrRNBre i

offa fou o1 frpeul 3 3 A IR gforw ¢
[Question ID = 3634][Question Description = S2_qSNz_PG_GP4_Q09]

A-1V,B-1ll, C-1,D - Il [Option ID = 14533]
A-1l,B-1,C-1l,D - IV [Option ID = 14534]
A-1,B-1l, C-1V, D - Il [Option ID = 14535]
A-1,B -1V, C-1ll, D- 1 [Option ID = 14536]

A W N -

Correct Answer :-
e A-IV,B-1ll,C-1,D- Il [Option ID = 14533]

5) Cognitive domain for behavioural objectives comprises which of these objectives?
A. Evaluation
B. Valuing

C. Comprehension



D. Precision
E. Knowledge

Choose the correct answer from the options given below:
RIGERAIE 32921 @ e AsIelicAD &I A o 393N @I Aafase fopar Sirer 3 ¢

A. Fcaiwel

B. e forerfzur @oont
C. 3ast

D. =remefar

E. smor

il feu sru fareeal 3 A A Ia= gol ¢

[Question ID = 3635][Question Description = S2_qSNz_PG_GP4_Q10]
1. A, B and Conly/daa A, B, C
[Option ID = 14537]
2. B, Cand D only/@aa B, C, D
[Option ID = 14538]
3. A,Cand Eonly/@act A, C, E

[Option ID = 14539]
4. C,DandEonly/@aea C, D, E

[Option ID = 14540]

Correct Answer :-
e A, Band Conly/aac A, B, C
[Option ID = 14537]

6) During research when we avoid speculative and metaphysical approaches and instead concentrate on studying
observable facts, it is called:

9IIEI @ SIRIGI S &3 HARICHD 3R dAlfcad efecmIvil A Tad 3 3z Yol ael uz era dfoga m 3 dl $1 foafclRad 3 A o= sl Siar 8

[Question ID = 3636][Question Description = S2_qSNz_PG_GP4_Q11]
1. Feminism/amtarg [Option ID = 14541]

2. Ethnomethodology/ssuferfdste [Option ID = 14542]

3. Constructionism/3izdeicaaar [Option ID = 14543]

4. Positivism/frerrcama [Option ID = 14544]

Correct Answer :-

e Feminism/aRlarg [Option ID = 14541]

7) In research, the combination of different methods, study groups, local and temporal settings, and different theoretical
perspectives in dealing with a phenomenon is called:

fRp2ft uf¥acen & Jder 3 BRI B PR oNer 3 Riftoa USRI, 3r¢RIeT ARl FereiiRI ik SRRl frcRIRIl & JHRilsiel B! wad 3 :
[Question ID = 3637][Question Description = S2_qSNz_PG_GP4_Q12]

. Triangulation/feggsiet [Option ID = 14545]

. Content analysis/frer Jmesf faswor [Option ID = 14546]
. Corpus/mria [Option ID = 14547]

. Mediation/aezrzerar [Option ID = 14548]

A W N -

Correct Answer :-
e Triangulation/fesior [Option ID = 14545]

8) ldentify the CORRECT sequence of steps for the centroid method of factor analysis
A. Work out the sum of coefficients in each column of the correlation matrix
B. Compute a matrix of correlation

C. Obtain the Sum (T) of columns



D. Divide the sum of each column by the square root of (T)

Choose the correct answer from the options given below

Bac? feasuur & dog uglt @ fere wedl @ Adiaw &I usars @3 :

A. Je3id ARTA D gRAD DIcid 3 VIl DI ABPIBd formict

B. Jrside @ et &l svren o3

C. ore @1 Arrwd (T) gra o3

D. gR® ®Icid @ AR @ (T) D aoise A Renfra o3

il fou s1e fraseul 9 21 & Ia= goi ¢

[Question ID = 3638][Question Description = S2_qSNz_PG_GP4_Q13]

. A, C, D, B[Option ID = 14549]
. C, B, A, D [Option ID = 14550]

B, A, C, D [Option ID = 14551]
. B, C, A, D [Option ID = 14552]

A W N -

Correct Answer :-
e A, C, D, B[Option ID = 14549]

9) Match List | with List Il for scale construction techniques

List | List Il
A . I. Number of individual items are developed into
Arbitrary C e .

a test which is given to a group of respondents
approach
B.
Consensus [Il. Scale is developed on an ad-hoc basis
approach
C. Iltem Ill. Chosen on the basis of their conforming to

/Analysis  |some ranking of items with ascending and
approach [descending discriminating power

D. .
. [IV. Panel of Judges evaluate the items chosen
Cumulative . .. .
for inclusion in the instrument
scales

Choose the correct answer from the options given below:

It -1 Bt e -1l A gakra B
et -1 et -1

A. arefcaas ||, s1cIe1-31cT9T AGT &I IR DI U ure A fashlha s sirar 3
efdcapior Y Sazcransit & s @1 e Sirar 3

B. srdasara
eficaiur

C. 6 fereauvr [ll. RIEL Siik IRl Ritomrl o1ftp Afda @ #1ct &I gultaur
eftemlur Bl SrgIBUAr @ MR UR TRAfora

Il. acef smenr uz tanmer @) frsf¥ra foean sirar &

D. it IV. fereaa 3 onfdrer ol @ fe1g goll 318 HST DI HcAidol DIt D
Neicis fere forvrizranl @1 Uotcr

ofid f&u s1u fapeal 3 A1 Al IR gfem :

[Question ID = 3639][Question Description = S2_qSNz_PG_GP4_Q14]
1. A-l,B-1,C-1,D-1IV

[Option ID = 14553]
2. A-1I,B-1IV,C-1,D-1ll

[Option ID = 14554]
3.A-1,B-Il,C-1I,D-IV

[Option ID = 14555]
4. A-IV,B-1,C-1l,D-1I

[Option ID = 14556]



Correct Answer :-
e A-IILB-Il,C-1,D-1IV

[Option ID = 14553]

10) Given below are two statements
Statement I: The base of the binary number system is 2.
Statement II: Binary addition is just like decimal addition except that the rules are much simpler.

In light of the above statements, choose the correct answer from the options given below

il St werel fRu e 3 ¢

werd - | fgamendt Fizsn yorredt o1 smemR 2 3

werel - |l : fgamendt eI, gowicrd Siis @ ATl 8l 3lar 3 Brary sad s forer orbl a1va &
IWRID Bl @ el 3, il f5u sre fRravedl 3 A A8 IR DI wRIet HIfde :

[Question ID = 3640][Question Description = S2_qSNz_PG_GP4_Q15]

Both Statement | and Statement Il are true/erer | 3z |1 Sloil 31 8 [Option ID = 14557]

Both Statement | and Statement Il are false/wewr | 3iiz || i6il sRier & [Option ID = 14558]
Statement | is true but Statement Il is false/@ermr | 31 @, fpoq @eret |l sRir & [Option ID = 14559]
Statement | is false but Statement |l is true/wepl | sRI=I 8 , fbog et |l A= & [Option ID = 14560]

A w N =

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | sl |l Gleil 21 & [Option ID = 14557]

11) More and more informal exchanges within a group to resolve conflicts is an example of

TRIdl DI AHIETGI Dol D e v e D sfiar 31ferp A sifere selluan¥e 3ICTe-ygIel 36180T 3 -
[Question ID = 3641][Question Description = S2_qSNz_PG_GP4_Q16]

. Vertical communication/3eaferz 3iuur a1 [Option ID = 14561]

. Horizontal communication/giférst 2iguur @1 [Option ID = 14562]
. Risk communication/sif3aer 2ifuur a1 [Option ID = 14563]

. Personal communication/dzfepe 2iuur 1 [Option ID = 14564]

A W N -

Correct Answer :-
e Vertical communication/3eafers 3iuor @1 [Option ID = 14561]

12) Which of the following are identified as verbal communication skills?
A. Use of aggressive language

B. Assertiveness

C. Opening feedback channels

D. Taking credit for oneself

E. Use of affirmative words

Choose the correct answer from the options given below:

forgatferRaa 31 3 b2l usarer aifire AYyUT Blored & Hu 3 & el 3

A. 3ITHRIG HIHT BT GRIBT

B. smepfdar

C. Blsd® @ olcll BT Yraeiet

D. ¥a=i &t 91 ot

E. Fdi®oRIica® 91t oI YRIBT

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 3642][Question Description = S2_qSNz_PG_GP4_Q17]

. A, Band C only/dqet A, B siiz C [Option ID = 14565]
. B, Cand D only/asaet B, C siiz D [Option ID = 14566]
. C, D and E only/aaa C, D siiz E [Option ID = 14567]
. B, Cand E only/@ae B, C siiz E [Option ID = 14568]

A w N =

Correct Answer :-



e A, Band C only/daet A, B sz C [Option ID = 14565]

13) Given below are two statements
Statement I: Body language is the basis of deceptive communication.
Statement IlI: Non-verbal cues have their own shared meanings.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

@erel - | : ADID MIdI, PG MIT BT e BXedl 3

@erol - || : S-aifRies Jidddl @1 3raon ArsH 3ref diar 3

SWRIFP Poll D 3MIclld #, ofld 8w 31w frapedl 3 A A8 Ia= @1 wrI6t HifSte :
[Question ID = 3643][Question Description = S2_qSNz_PG_GP4_Q18]

Both Statement | and Statement Il are true/wserwr | aiiz |l Sioit 2= & [Option ID = 14569]

Both Statement | and Statement Il are false/@ermr | 3iiz |l Siaif sRicer & [Option ID = 14570]
Statement | is true but Statement Il is false/@emol | a1 @ , fboq @eret |l sRI=r & [Option ID = 14571]
Statement | is false but Statement Il is true/memwr | sRicr & , fbog @erer || A= & [Option ID = 14572]

A W N =

Correct Answer :-
e Both Statement | and Statement Il are true/@memr | 3iR 11 Gleii 31 & [Option ID = 14569]

14) ldentify the CORRECT sequence of categories of grapevine communication
A. Cluster chain

B. Probability chain

C. Gossip chain

D. Single strand chain

Choose the correct answer from the options given below

SlelydrG AYHuT &t YR B A8l G bl usarea 3 ©

A. 31gg 9jacn

B. dstrerar gjzaen

C. srueru gjacn

D. wwa ¥is et

ofid fou a1 feul 3 A 8t I gl ¢

[Question ID = 3644][Question Description = S2_qSNz_PG_GP4_Q19]

1. A, B, C, D [Option ID = 14573]
2. B, C, D, A [Option ID = 14574]
3. D, C, B, A [Option ID = 14575]
4. C, D, A, B [Option ID = 14576]

)

)

» Uy

Correct Answer :-
e A, B, C, D [Option ID = 14573]

15) Match List | with List Il

List | List Il

Categories of communication Features

A. Lateral I. Touch communication

B. Haptics Il. Between equals

C. Semantics lll. Interpretation of signs

D. Semiotics IV. Concerned with meanings|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rxeht -1 il

(it Qo) (fororerems)

A. aiffds |. Iiguor Fuof

B. Fuof fasier Il. Jameil @ & JAquor




C. srefgea Ill. Fid>di &I =
D. zidfers IV. sreif A Hdfe@a
oifaY feu sru faasedl 3 A 8 3R gforo :

[Question ID = 3645][Question Description = S2_qSNz_PG_GP4_Q20]

A-11,B-1,C- IV, D - Il [Option ID = 14577]
A-1ll,B-1I,C-1,D- IV [Option ID = 14578]
A-1V,B-1ll, C-1I, D - | [Option ID = 14579]
A-1,B-1V, C-1ll, D - Il [Option ID = 14580]

A wWwN =

Correct Answer :-
e A-Il,B-1,C-1V,D-Ill [Option ID = 14577]

16) What comes next in the following sequence?

8,6,4.5, 3.5 ___

8, 6, 4.5, 3.5 @ 3rgJaye I 3IEICH Blol-AT 3D 3o ?

[Question ID = 3646][Question Description = S2_qSNz_PG_GP4_Q21]
1. 1/1 [Option ID = 14581]

2. 2/2 [Option ID = 14582]

3. 2.5/2.5 [Option ID = 14583]

4. 3/3 [Option ID = 14584]

Correct Answer :-

e 1/1 [Option ID = 14581]

17) X has one and a quarter times as many as Y, and Z has one and a quarter times as many as X. Altogether, they have 61.
How many do Z, Y and X have, respectively?

X & ura Y o1 a1 3ol 3 3R Z & urd X &I Aar 3ot & A Wsft & urey afl¥afera 3a A 618 Z, Y 3l X & ura qaaer: foedor 3 ?
[Question ID = 3647][Question Description = S2_qSNz_PG_GP4_Q22]

1. 25, 16, 20/25, 16, 20 [Option ID = 14585]
2. 20, 16, 12/20, 16, 12 [Option ID = 14586]
3. 25, 20, 16/25, 20, 16 [Option ID = 14587]
4. 16, 20, 25/16, 20, 25 [Option ID = 14588]

Correct Answer :-
e 25,16, 20/25, 16, 20 [Option ID = 14585]

18) Showing the man in a photo, Kavita said, "He is the brother of my uncle's daughter".

How is the man realted to Kavita?

U B 3 v AP @l 3K gu @fddr of @al, ds 3R aral &l 9¢l o 11 3 33 ARp A Pldar @1 a=r foar 3 ?

[Question ID = 3648][Question Description = S2_qSNz_PG_GP4_Q23]
Nephew/ sifisit [Option ID = 14589]

Cousin/admr o1$ (pfoter) [Option ID = 14590]

Uncle/arar [Option ID = 14591]

Son/gq [Option ID = 14592]

A W N -

Correct Answer :-
® Nephew/sicfts [Option ID = 14589]

19) Given below are two statements
Statement I: In one minute, the minute hand of a clock gains 5° over the hour hand.

Statement Il: If both the minute and hour hands start moving together from the same position, both the hands will coincide
after 64 minutes.

In light of the above statements, choose the correct answer from the options given below

ofil &t werer Ru sme 3 :

Pl - | : v frore 3 et Slar a3l & Brore &1 J3, @ Bt IF A 5° 3! a6 oIl

P - |l : afe Bete 3l @ &t gzt v & Rreafer 3 3m9) agon 9 @l 3 A el Jsat 64 Bioie arc uwp, g A Ricieh
SWRITD Dol D 3MIclld #, ofid 8w 31w farasedl 3 3 A8 Ia= @I wrI6t HifSte :

[Question ID = 3649][Question Description = S2_qSNz_PG_GP4_Q24]



1. Both Statement | and Statement Il are true/@emwt | aiiz || Sleil A 8 [Option ID = 14593]

2. Both Statement | and Statement Il are false/wewt | 3z || el sRicr & [Option ID = 14594]

3. Statement | is true but Statement Il is false/@emwr | 3 &, fdpoq weret || srier @ [Option ID = 14595]
4. Statement | is false but Statement |l is true/emel | sRIcI 8 , fboq @ere |l 3 & [Option ID = 14596]

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | siiz |l Greif 31 & [Option ID = 14593]

20) Consider the following statements:
A. A single discount equivalent to three successive discounts of 10%, 20% and 25% is 46%
B. A mabile is sold for 14500 at a loss of 20%. The cost price of the mobile is T18225.

C. If the loss is % of the selling price, the loss percentage is 28%

Choaose the correct answer from the options given below:

frofeREd sty R fear &1

A. TP SR T G178 46% B e, dH IR T 1 718 10%, 20% 3R 25% el & aRIeR o

B. U TIETSd @ 20% @1 811 U 14500 & H &1 I1d1 5, Alaled &I aNTd o4 182255 &
D.afe g, o g @1 1l g1 28% €

il e e fasen! # 9 wEl IR I

[Question ID = 3650][Question Description = S2_qSNz_PG_GP4_Q25]
1. Aand B only/d>act A siiz B [Option ID = 14597]

2. Band C only/aac B siiz C [Option ID = 14598]

3. Aand C only/daer A siiz C [Option ID = 14599]

4. Aonly/aqe A [Option ID = 14600]

Correct Answer :-
e A and B only/@aet A 3iiz B [Option ID = 14597]

21) In the context of uses of language, which of the following is the fallacy that pertains to the relationship between a
person's beliefs and his circumstances?

forgaifeiRaa af A Dlol-AT a Y 3 S caftp @ frearal siie uf¥f¥-efern @5 dia Fider o) b 2 3

[Question ID = 3651][Question Description = S2_qSNz_PG_GP4_Q26]
Argumentum and Baculum (force)/msfiies &s dqgem (o1fep) [Option ID = 14601]

Argumentum ad Hominem (circumstantial)/smejdicar us glfdolr (uRfRefesioa) [Option ID = 14602]
Argumentum ad Ignorantiam (ignorance)/3msjdics Us seoiRfcRIol (3tstoiar) [Option ID = 14603]
Argumentum ad Verecundiam (authority)/smejdicar ssd¥@fEwre (qifemr) [Option ID = 14604]

AW N =

Correct Answer :-
e Argumentum and Baculum (force)/smsfdicar 6s dagetat (9ifep) [Option ID = 14601]

22) If 'Some members are not voters' is false in a square of the opposition of proposition, which of the following code can
be correctly picked

A. 'All members are voters' is false
B. 'Some members are voters' is true
C. 'All members are voters' is true
D. 'No members are voters' is true

Choose the correct answer from the options given below:

a® araeil & fRiell 9ot 3 Al "o FAcra Aqacrar ofl ¥ srIca 8, al fororferRaa 3 2 e @ 1 A8) Are ST AADAT &
A. "t Ig HAqcar &' 3R 3

B. "®@® 3¢ Aqcr 3 AT 8

C. "afl g Aqcian &' Aca

D. "®I¢ AR ACIAI oidl 3" AT 3



offa fou o1 fyeseul 3 21 & 3a= goi ¢
[Question ID = 3652][Question Description = S2_qSNz_PG_GP4_Q27]

1. A and D only/@aet A iz D [Option ID = 14605]
2. Aand B only/dact A siiz B [Option ID = 14606]
3. Band C only/dsaet B siiz C [Option ID = 14607]
4. Cand D only/d@ae C siiz D [Option ID = 14608]

Correct Answer :-
® A and D only/dae A siiz D [Option ID = 14605]

23) Which of the following codes correctly represents the figure and mood of the argument?
All businessmen are self-confident

No self-confident men are religious

Therefore, No religious men are businessmen

Choose the correct answer from the options given below

forgstferRaa wiol-A1 G awdaral @ PR 3R PR Bl A8 U I YIdd B 3 ¢
aeft camurd) sirca-fearh Aa 3

sed-ferear f3a o off wiftp enfifes orél dran

sAfere o1¢ st enBies cafes cmurE! odl aar

[Question ID = 3653][Question Description = S2_qSNz_PG_GP4_Q28]
1. AEE - |
[Option ID = 14609]
2. AEE -1l
[Option ID = 14610]
3. AEE - 1lI

[Option ID = 14611]
4. AEE - IV

[Option ID = 14612]

Correct Answer :-
e AEE-|
[Option ID = 14609]
24) The knowing self knows objects through the instrumentality of the sense organs (Indriyas) but the existence of Indriya
is proved by

Sire sfogal & AsrIar A Ul @ a1 3 SIIPRI Yid @l & sfogl @I iiR¥dca ganfvra o sitar & fordot 31 2 fpAad GRI &

[Question ID = 3654][Question Description = S2_qSNz_PG_GP4_Q29]
1. Anumana Pramana/smie gommr gt [Option ID = 14613]

2. $Sabda pramana/eres gygmor grer [Option ID = 14614]

3. Arthapatti Pramana/sterfufer grr [Option ID = 14615]

4. Upamana Pramana/3usiret yaamr g1 [Option ID = 14616]

Correct Answer :-
e Anumana Pramana/ sl gemvr gt [Option ID = 14613]

25) Which form of knowledge is NOT derived through the instrumentality of other knowledge?

Sifol @ b1 TaaU Bl 3161 Siiel bl ASRIAT A Y o181 v Sirer 3

[Question ID = 3655][Question Description = S2_qSNz_PG_GP4_Q30]
. Perception/ggret [Option ID = 14617]

. Inference/smopmet [Option ID = 14618]

Word-testimony/9reg yaiur [Option ID = 14619]

Comparison/3udtet [Option ID = 14620]

AW N =

Correct Answer :-
® Perception/ygiet [Option ID = 14617]



26) In respect of computer software, features of a typical operating system include:
A. The interface-allowing communication between the user and the computer

B. Memory management-allocating internal memory (RAM) to programs and data in use and retrieving and storing data on
the external memory devices

C. Resource handling-controlling peripheral devices (input and output devices) and handling user requests for peripheral
devices

D. Internet access-providing connectivity to the services on the Internet

Choose the correct answer from the options given below:

PRI Afredsr @ der # et gferforftre smuifeer Rrrea &t fRroruarsii 3 foreifeRaa onfirer ait 3
A. R g% - QRAIHI 9 BRI D dla AYwuT G sigpefer Sar 3

B. A3l ydtrol - gIeI 3l 38 Yoyl 31k sfips] @ fere sieifees ISl (3= € wdH) b sirdcol SR 1@l AR SarsARA UR 3iibs] &l gor:gufix
q 9SRUT

C. Jarerol FHsreron - uf¥efRr 3arsAl (solye a sn3eyc 3arsA) ol forifeld wen a ufdi Sarsil & fere gRITpT srgpR1ell @1 HsIcTon
D. scvole uga - $eolc U= A4l & RRI Aud ygrel wel

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 3656][Question Description = S2_qSNz_PG_GP4_Q31]

A, C and D only/@aet A, C iz D [Option ID = 14621]
B, C and D only/a@act B, C siiz D [Option ID = 14622]
A, B and C only/daet A, B aiiz C [Option ID = 14623]
A, B and D only/@aet A, B aiiz D [Option ID = 14624]

A W N -

Correct Answer :-
e A, Cand D only/dact A, C siiz D [Option ID = 14621]

27) Match List | with List Il

List | List Il

(Description) (Appropriate Technical Term)

A. Authoring language used to create
documents to be viewed on the World |Il. Browser
Wide Web

B. Computer that responds to requests
to provide information and services Il. HTTP
over the Internet

C. Defines how messages are
transmitted and formatted over the lll. HTML
Internet

D. Software that enables users to
access/view documents and other IV. Internet server
resources on the Internet

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -| e -l

(ferarzon) (U Awoildl Ug)
A. Stadic Felrel @ feru cisdsl fermon PRI acs arss |

A4 Uz 1 SIIY -
B.ézﬁzmg@ﬁn@”@dﬁm@”éﬁa}mﬁmmam”-@ﬁﬁx&

(DI IR ol dIcl PRICT

C. $colc WR gRIfdIC Ud Widle Slel el JRISIST BI i a

- . TA.ELuA.TeL
D:Qmmeﬁq&maﬁﬂaﬁmmsm@t V. < ke

Biiz g1? JAIerGil DI YaIA/ S0l D A Folidl 31

il fou s1e fyseul 3 3 A8 IR o ©



[Question ID = 3657][Question Description = S2_qSNz_PG_GP4_Q32]
1. A-Nl,B-1IV,C-1,D-1l

[Option ID = 14625]
2. A-1,B-IV,C-1l,D -1l

[Option ID = 14626]
3. A-IV,B-1II,C-1,D-1l

[Option ID = 14627]
4. A-1I,B-1V,C-1l,D-1

[Option ID = 14628]

Correct Answer :-
e A-IIl,B-IV,C-1,D-1l

[Option ID = 14625]

28) Arrange the following optical storage devices in decreasing order of their storage capacity
A. DVD

B. CD-ROM

C. Blu-Ray

Choose the correct answer from the options given below

TSI BUARIE & Ted qat 3 Polifted R RaskT @ raf¥ea bifse:

A. Sdtd.

B. i3 - 3o

C.s13

offa fou s1u fyeseul 3 2 & 3= goi ¢

[Question ID = 3658][Question Description = S2_qSNz_PG_GP4_Q33]

C, B, A [Option ID = 14629]
C, A, B [Option ID = 14630]
B, C, A [Option ID = 14631]
A, C, B [Option ID = 14632]

A WN -

Correct Answer :-
e (C, B, A [Option ID = 14629]

29) Given below are two statements
Statement I: An operating system controls peripherals, and allocates memory and processor time.
Statement II: An operating system provides Internet access.

In light of the above statements, choose the correct answer from the options given below

ofi 3 Dot Ruse 3 :

@erel - | @ v sifaefest Rivear aftdzcar @ forafoqa @ear 3, 3iik AR 3fi YRR AR DI Mol BT &
@l - |l : v sifmfesr Rzcar $edic VaiA Yglol @ &

SWRIFP Poll D 3MIclld #, ofld 8w s1u frapedl 3 A A8l Iaz @1 wrI6t HifSte :

[Question ID = 3659][Question Description = S2_qSNz_PG_GP4_Q34]

Both Statement | and Statement Il are true/eret | 3z |1 Gloll 311 & [Option ID = 14633]

Both Statement | and Statement Il are false/aermr | 3iiz || Staif sRicer & [Option ID = 14634]
Statement | is true but Statement Il is false/@erwer | 311 &, fbog weret |l 3R & [Option ID = 14635]
Statement | is false but Statement Il is true/memr | 3Ric & , fboq et || A= & [Option ID = 14636]

A W N -

Correct Answer :-

e Both Statement | and Statement |l are true/@emwr | 3iR 11 Gleii 31 & [Option ID = 14633]

30) Which of the following is the appropriate GUI (Graphical User Interface) component used to select one from multiple
alternatives?

forgotifene 3t 3 Blol IUYTP SHLYIME. (S|fbaet Yok ScewsA) e 3 Sl ag famcul 3 A v DY gotol 3 YRIIeT e sirar 3

[Question ID = 3660][Question Description = S2_qSNz_PG_GP4_Q35]



Scroll bar/>@je a= [Option ID = 14637]
Push button/ger seat [Option ID = 14638]
Progress bar/q@) ar [Option ID = 14639]
Radio button/3f=it scer [Option ID = 14640]

A W N -

Correct Answer :-
e Scroll bar/z@fet arz [Option ID = 14637]

31) Which one among the following diseases is NOT caused due to exposure to ultra-violet radiation?

forgstfeiRae 3t A wlot-AT AT U Joroil fafdpuT Yeract @ w1Rvr S8l Blar 3 ?

[Question ID = 3661][Question Description = S2_qSNz_PG_GP4_Q36]
1. Bronchitis/«arterctt oter [Option ID = 14641]

2. Melanoma/decimeien [Option ID = 14642]

3. Ocular damage/alq eifer [Option ID = 14643]

4. Erythema/caqfepan [Option ID = 14644]

Correct Answer :-
e Bronchitis/arreft ofter [Option ID = 14641]

32) Match List | with List I

List | List Il

Class of water Example/Explanation

pollutants

A. Disease-causing I. Organic wastes decomposed by aerobic
agents bacteria

B. Oxygen depleting

Il. Acids, salts, compounds of toxic metals
wastes

C. Inorganic plant

. lll. Bacteria, protozoa, worms etc.
nutrients

D. Water-soluble IV. Water-soluble nitrates and phosphate cause
inorganic chemicals |excessive growth of algae etc

Choose the correct answer from the options given below:

et -l oot 3Eh -1l A Fgafera Hifse :

et -1 et -1l
STl YgHl T aot Sc18vT / SRR
A. AoISIoID PRD |. argeidl Sflary gr1 fdafea oo srufdrse

B @ et Il. 3T, crqur, D emqgsil @ AR

srafdrse

?Cl.ﬁ:ﬁsﬁtbsmaﬁ%ﬁﬁthuaim. —— P e —

D. St 3 gerorofier IV. Stet & gererofier omrsee iR wivde dare senfe
IepTeifored RIS bt arfer gy @ 3

offa feu aru fasedl 3 A A8 3R gforu :

[Question ID = 3662][Question Description = S2_qSNz_PG_GP4_Q37]
1. A-1,B-IV,C-1l,D-1I

[Option ID = 14645]
2. A-1L,B-1I,C-1,D-1V

[Option ID = 14646]
3. A-NLB-1,C-1V,D-Il

[Option ID = 14647]
4. A-IV,B-1I,C-1I,D-I

[Option ID = 14648]
Correct Answer :-
e A-I,B-IV,C-1l,D-1l
[Option ID = 14645]



33) Given below are two statements
Statement I: Nitrification results in an increase in effluent ammonia toxicity
Statement Il: Denitrification reduces nitrate to nitrogen gas using bacteria

In light of the above statements, choose the most appropriate answer from the options given below

ofi &t werer Ru sme 3 :

Dol - | : afdzra &t spEforn furpar # gl sisdia?ur o ufyvme 3

Dol - || : fRensdiavr # Sfiarvy oI geT @2 olis¢e Pl slisgislol 911 3 ITARM @ &
SWRIP Doll D 3MIclld #, ofld 13w 31w frpedl 3 3 A8 Iaz @I wrI6t HIfSte :
[Question ID = 3663][Question Description = S2_qSNz_PG_GP4_Q38]

Both Statement | and Statement Il are correct/@emr | 3z Il gloif & € [Option ID = 14649]

Both Statement | and Statement Il are incorrect/aemr | 3iiz |l Gieil steta & [Option ID = 14650]

Statement | is correct but Statement Il is incorrect/ et | 3@t 8, fpoq @t |l st & [Option ID = 14651]
Statement | is incorrect but Statement Il is correct/@emwt | stera @ , fbog et |l 3@ 8 [Option ID = 14652]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmemwr | iR |1 Gloll 28 & [Option ID = 14649]

34) Flotation is a unit operation, used in wastewater treatment to
A. Remove the lighter suspended solids

B. Concentrate biological sludge

C. Remove oil and grease

D. Remove the temporary hardness of the water

Choose the correct answer from the options given below:

Teldol Gab $pI$ fpar & a1 surilel 3rufdrse Siel A a=Ir g ol 3 fovar sirar 3:
A. sitfa freifdre a1 ucrelf ol serol i

B. J1ig Sifdbir sme Hlas @ fere

C. de 3ii= 3ff=1 (3ffsr) @t sere A

D. Ste1 @ 3RURM BoRAr Bl seral 3

ofid fou o1 el 3 A A8t STz gt ¢

[Question ID = 3664][Question Description = S2_qSNz_PG_GP4_Q39]

A, B and C only/d@act A, B 3iiz C [Option ID = 14653]
B, C and D only/a@ae B, C siiz D [Option ID = 14654]
A, B and D only/dact A, B 3fiz D [Option ID = 14655]
A, B, C and D/A, B, C siiz D [Option ID = 14656]

A wWw N -

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 14653]

35) Match List | with List

List | List Il
Ozone depleting substanceName

A. C3HF7 I. HCFC
B. C2FH;Cl; Il. Halons
C. C2F4Cl; lll. HFC
D. CF3Br IV. CFC

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

Rt -1 oreht -
BilSilor erf¥a ucret e

A. C3HF7 I. HCFC
B. C2FH;3Cl; Il. 3clica
C. CoF4Cl3 lll. HFC
D. CF3Br IV. CFC

oif<l feu are famedl 3 A A8 3R gfore :



[Question ID = 3665][Question Description = S2_qSNz_PG_GP4_Q40]

A-1,B-1ll,C-1l,D-IV[Option ID = 14657]
A-1I,B-1,C-1V,D- Il [Option ID = 14658]
A-1l,B-1v,C-1ll, D -1I[Option ID = 14659]
A-1V,B-1l,C-1,D-Ill [Option ID = 14660]

A w N =

Correct Answer :-
e A-I,B-Ill,C-Il,D-IV[Option ID = 14657]

36) The country which has the highest number of higher education institutions is:

g oI SIel Uz Sod 118 Jzermeil & waiféres e 3 :

[Question ID = 3666][Question Description = S2_qSNz_PG_GP4_Q41]
1. India/sme [Option ID = 14661]

2. China/der [Option ID = 14662]

3. USA/gmre [Option ID = 14663]

4. Russia/z [Option ID = 14664]

Correct Answer :-
e [ndia/smea [Option ID = 14661]

37) Arrange the following in chronological order of their occurrence
A. Hartog Commission

B. Sadler Commission

C. Macaulay's Minutes

D. Sargent plan

E. Wood's Despatch

Choose the correct answer from the options given below

forgaifeiRaa I So1d> 3106l WA BITHAGRIR afded Hifsre

A. BIcher 3RIeT

B. JdscR ARIET

C. Jora origa (Brercz)

D. rsie wision  (tetrer)

E. gs B¥a

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 3667][Question Description = S2_qSNz_PG_GP4_Q42]
C, E, A, B, D [Option ID = 14665]

C, E, B, A, D [Option ID = 14666]
C,E,B

C, B, E

B
A

, D, A [Option ID = 14667]
A, D [Option ID = 14668]

)

A W N -

>

Correct Answer :-
e C, E, A B, D[Option ID = 14665]

38) Which of the following are NOT statutory bodies?
A. NAAC
B. NMC

C. NCERT
D. AICTE
E. NCTE

Choose the correct answer from the options given below:

forgsiferRae 31 3 Plet A Aifaferd foror 3 :
A. NAAC

B. NMC

C. NCERT



D. AICTE

E. NCTE

il fou s1e fraseul 3 3 & Fa= goi ¢

[Question ID = 3668][Question Description = S2_qSNz_PG_GP4_Q43]

1. Aand B only/dact A siiz B [Option ID = 14669]
2. Cand D only/a>aet C siiz D [Option ID = 14670]
3. Aand C only/@aet A siiz C [Option ID = 14671]
4. D and E only/a@aet D siiz E [Option ID = 14672]

Correct Answer :-
e Aand B only/dact A siiz B [Option ID = 14669]

39) UGC is established for:

A. Promoting research and innovations in higher education in the country

B. Coordination, determination and maintenance of standards of university education

C. Increasing access to higher education in the country

D. Disbursing grants to the universities and colleges

E. Serving as a vital link between the Union and State governments and institutions of higher learning

Choose the correct answer from the options given below:

g St 2ft I Ferruen o Foa & e g5 3 ?

A. or 3l Ica fren 3 sigpRien 3R stayddeil ol aerar Jolr

B. farafdemcrit f31gr @ eIl ®I WIoarIal, forerzur siiz Sxasmar

C. Tor 3 Ica fAren as ugda ! dGTeln

D. frafdencril siiz Bicisil B Mogloll @I [T well

E. 3@ qen s IRERI SR Iaa fOren siffemnr el & dia dstayvl odt & wu i Aar Ygrel Bt
il f3u a1 fraseul 9 A W IR BT TRl HIRdIE ©

[Question ID = 3669][Question Description = S2_qSNz_PG_GP4_Q44]

1. A, Cand E only/daet A, C 3iiz E [Option ID = 14673]
2. A, B and C only/d@>ae A, B siiz C [Option ID = 14674]
3. A, B, Cand D only/daer A, B, C 3iiz D [Option ID = 14675]
4. B, D and E only/a@act B, D siiz E [Option ID = 14676]

Correct Answer :-
e A, CandE only/aact A, C iz E [Option ID = 14673]

40) Match List | with List Il

List | List Il

A. AICTE |l. Promotes research in Philosophy

B. ICHR [ll. Promotes research in History

C. ICPR  [lll. Promotion of quality in Technical Education
D. ICSSR [IV. Promotes research in Social Sciences
Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera dbifie

et -1 et <11

A. AICTE |. Gofetoney # 3olRieiTel DI GGIol

B. ICHR Il. sfererar 3 srogienet o aGlel

C. ICPR Ill. aosofichl forem &bt spurar ! derar Joi
D. ICSSR V. senfore fsimell 3 sielRiene @l delel

oifY feu o1u faasedl 3 A A8 3R gforo ¢
[Question ID = 3670][Question Description = S2_qSNz_PG_GP4_Q45]

1. A-1ll,B-1l,C-1,D - IV [Option ID = 14677]
2. A-1ll,B-1I,C- 1V, D - | [Option ID = 14678]
3. A-11,B-1Il,C-1,D- IV [Option ID = 14679]
4. A-1IV,B -1, C-1Il, D - | [Option ID = 14680]

Correct Answer :-
e A-IIl,B-IlI,C-1,D-IV[Option ID = 14677]



Topic:- GP_20NOV_C_SH2

1) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, ‘immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

33 s1Q srerior @1 ue 3iiR ofid f3u s1w yesll S 3az S ¢
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The concept of social exclusion is multidimensional because of:

ARSI afdspR &I sraemrvn R BRI A dgsmmed 3 :

[Question ID = 3671][Question Description = S2_qSNz_PG_GP4_Q46]

1. multiple groups to focus on/fafder 2wl uz dfga [Option ID = 14681]

2. variations in deprivations/ddei @ ¥au 3t fieorar [Option ID = 14682]

3. the prevalent notion about social outsiders/mafSis =u 3 arsdt clsll @ ar 3 yafera sraemzon [Option ID = 14683]
4. social statuses across nations/2iyuf gor 3 s Reifer [Option ID = 14684]

Correct Answer :-
e multiple groups to focus on/fafeer wel e Diga [Option ID = 14681]

2) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: ‘the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority



are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 319 sren9r o ug iz ofid 3w a8 yesil & 3a 3 :
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The new reflection on social exclusion has emerged from

ATHISID SfESDR UR old - Ridfol @8l A Icuool 3T 3 ?

[Question ID = 3672][Question Description = S2_qSNz_PG_GP4_Q47]

The industrialisation process in Europe/zRu 3 sitelsftasur yfdpen [Option ID = 14685]

The arrival of new scholarship in sociology/mistond 3 ol uifSe1 (IpIerfdm) o1 smewpiel [Option ID = 14686]
The technological impact on societies/ @Gl U2 awofihl ysma [Option ID = 14687]

The changes in the nature of social inclusion/mfSis el @ Fasu 3 dacrra [Option ID = 14688]

A w N =

Correct Answer :-
e The industrialisation process in Europe/3RIu 3 sielsfias2ur yfegan [Option ID = 14685]

3) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

3 a1u srenor @ ug iz ofla 3w a1w yesll B 3R ¢ -
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The post-industrial society and economic restructuring have contributed for
IR - JENBID AATS 3R N> YerRize of fepaad feru Aot f&ar 3 ?

[Question ID = 3673][Question Description = S2_qSNz_PG_GP4_Q48]

The reconsideration of employment issue/3IseIR 38 W Yoifdar [Option ID = 14689]

Strategies aimed at social integration/mufSis wdblm2ur 8q cfér wehierR [Option ID = 14690]
Fragmentation of welfare state/@wcamimil s @1 fdzama [Option ID = 14691]

Social disintegration into new deprived groups/sra dfkra Wwjgl 9 AP fauser [Option ID = 14692]

A w N -

Correct Answer :-
® The reconsideration of employment issue/3spIR 38 w yeifdar [Option ID = 14689]

4) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new
vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

&2 a1U srEnor @Y ug iR offa 3w a1e Yesil B IR S ¢
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The scholarship on social exclusion has gone beyond
AEIfeIe af¥spr uifdca (Faicrid) s3ad W S gbr 3 ©

[Question ID = 3674][Question Description = S2_qSNz_PG_GP4_Q49]
1. The reach of governments/3r®r! 61 uga [Option ID = 14693]

2. The conventional thinking/uwuer i [Option ID = 14694]

3. The normal issues of deprivation/ddon @ e #8 [Option ID = 14695]

4. Common perspectives of inclusion/zmmerer @ mer uf¥egr [Option ID = 14696]

Correct Answer :-
e The reach of governments/3R®RI &t uga [Option ID = 14693]

5) Read the given passage and answer the questions that follow

Social exclusion is a multi-dimensional concept conceived to capture different aspects of social disadvantage-economic,
social, political and cultural-that exist in multiple variations across nations. Stripped to its essence, the term focuses on the
groups excluded in economic, social and cultural terms as well as on the mechanisms that work to relegate them to the
status of social outsiders. Originating mainly in the writings of French sociologists, the concept is receiving growing scholarly
attention in Western Europe. The emergence of the term, in fact, reflects an attempt to reconceptualise the changing
nature of social disadvantage in post-industrial societies in the face of major technological change and economic
restructuring. The West, for example, has been experiencing an intensifying process of social integration that is occurring
because of long-term unemployment, increasing migration and the rolling back of the welfare state. Consequently, new



vulnerable social groups have been emerging and are labelled in different ways: 'the new industrial poor’, 'immigrants’,
‘ethnic groups’, 'single parents’, among others. Interest in social exclusion has grown in relation to the growth of new social
problems in the west. Two important issues are worth considering here. First, does the concept add anything new which
cannot be provided by analysis within a more conventional framework of, say, poverty, inequality, deprivation and so on.
Second and more important, can this concept be extended beyond a European perspective to a development setting? Can it
be exported from the North to the South, from a situation where the majority are well-off to a situation where the majority
are poor? Clearly, a great deal of attention has been paid, in development analysis, to related issues such as poverty,
inequality, deprivation, entitlements and capabilities.

A 31U srener o ug iz ofid 3w a8 yesil & 3a 3 -
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The concept of social exclusion is now
ARIRID DR B EIDd TR 3 &

[Question ID = 3675][Question Description = S2_qSNz_PG_GP4_Q50]

1. The focus theme of Europeans/zRIdkr clisti w dfga fawrr (fter) [Option ID = 14697]

2. Anissue of developmental capability/fdmrRicad miet a1 g1 [Option ID = 14698]

3. A commodity for export from the North to the South/3a= 31 sfémr &t aew foriia @ fére azq [Option ID = 14699]

4. Universal in character, going beyond the western hemisphere/dfq® ¥awu arefl, uf2weft sitemet 3 as2 St g [Option ID = 14700]

Correct Answer :-
e The focus theme of Europeans/Ridl ciell ue @fga fawrr (eflsr) [Option ID = 14697]





